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GSE/M-22 1472
MATH.
Paper-BM-121
Time : Three Hours] [Maximum Marks : 40

Note : Attempt five questions in all. Question No. 1 is
compulsory. Select one question from each section.

Compulsory Question

1. (a) IHfnisaninteger, show that n(n? — 1) (3n + 2) is divisible
by 24. 2

(b) If nis a power of 2, then prove that o(n) is odd. 2

) If :SW = tanh W. , prove that cos x cosh x = 1. 2
(d) Prove that i' =¢ "7, 1
sin™! 3 +sin™ 3. sin”! g
(e) Prove that 13 5= 65 ) 1
SECTION-1
2. (a) Prove that number of primes is infinite. 4
(b) Find the general solution of 70x + 112y = 168. 4
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3. (a) Find the least non-negative remainder if 3°! is divided
by 23. 4
(b) Using Wilson's theorem, show that
(18)! + 1 =0 (mod 23). 4
SECTION-II
4. (a) Find all integers that satisfy
x=2(mod 3), x=3 (mod 5), x =5 (mod 2)
simultaneously. 4
(b) Prove that ¢(n) MW if and only if n = 2% for some
integer k£ 2 1. 4
5. (a) Find the highest power of 6 contained in 500! 4
(b} Using Gauss Lemma, show that 2 is a quadratic
non-residue (mod 13). 4
SECTION-III
6. (a) If 8,, 0,, 0, be three values of 8 which satisfy the
equation
tan 20 = A tan (0 + o)
and if no two of these values differ by a multiple of =,
show that (8; + 6, + 8; + o) is a multiple of ®. 4
(b) Express cos® 8 + sin* O in a series of cosines of multiple
of 6. 4
1472/3,700/KD/890 2

7. (a)
(b)
8. (a)
(b)
9. (a
(b)

If z =x + iy where x and y are real, find real and

cos Z
z+1

imaginary parts of . 4

If tanh (x + iy) = cosh {0 + i), prove that

tan o . tan B = cosec 2x. sinh 2y. 4
SECTION-IV

If cos (8 + ip) = r(cos o + i sin @), prove that

-1

mi 0-0)
¢ 3 log

—_— 4
sin (0 + o)

Solve the equation

t -_M+S=,_W+B= —ttanlx=— 4
an -3 5 7 s

Separate tanh™! (x + iy) into real and imaginary parts.
4

Find the sum of the series :

. _. _N.
mSQ+MwSmQ+ 3 meQ+:.:.88. &
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(b) Solve the simultaneous equation

9. (a) Solve the differential equation

yzlog2dx - 2xlogzdy + xydz =0.

(b) Solve the differential equation
yzlogzdx—zxlog xdy + xy dz = 0.

1473/3,700/KD/1389 4

Roll No. .....cccconvrvnnnne. Total Pages : 4
GSE/M-22 1473
ORDINARY DIFFERENTIAL EQUATION
Paper-BM-122
Time : Three Hours] [Maximum Marks : 40

Note : Attempt five questions in all. Question No. 1 is
compulsory. Select one question from each section.

Compulsory Question

1. (a) Write the condition for exactness of the differential

equation
Mdx + Ndy = 0. 1
(b} Define Clairaut's equation. 1
(c) Find the complementary function of the differantial

equation

4
anrsbwumgaﬁ. 2

(d) Determine the complementary function of the

2
differential equation x* M..,a|w - am +y=2logx. 2
(e} Solve the equation
& _dy_di N
y -x yz
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SECTION-I
2, (a) Solve the differential equation
@ - 207 + y%) dx — (2x%y - 4xy3 + sin y) dy = 0.
4
(b) Solve
xtyde- (x> +y3) dy = 0.
3. (a) Solve the differential equation.
2
dy dy
2|4y ay 12
x &M_ NQ&+M% x° =0, 4
(b) Solve and find the complete primitive and singular
. . 2p°
solution of the equation 3y = 2px — vt 4
SECTION-II
4, (a) Find the orthogonal trajectories of the cardioid
r =a (1 - cos 8), where a is the parameter. 4
{b) Solve the differential equation
d uu\ dy _ .2 2
M.Nul mu+3\|a + e° + cos 2x, 4
5. (a) Solve the differential equation
dy . 1
x* T y=xtt o 4
1473/3,700/KD/1389 2

(b)

6. (a)

(b)

7. (a)

(b)

Solve

2
anmlxmlmzuam_oma. 4

SECTION-II

Solve the differential equation

2
wlno?«mlﬁlnoﬂbwumn sin x, 4

Solve by removing the first derivative

—= +n*y = sec nx, 4

Solve the differential equation by the method of
undetermined coefficient :

(D? - 2D + 5)y = 25x% + 12. 4

SECTION-1V

Solve the simultaneous equations

dx dy as
&+N& 2x+2y=3¢".
dx dy .
u&+&~+m.«+wlhm .

1473/3,700/KD/1389 3 [P.T.O.
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GSE/M-22 1474

VECTOR CALCULUS
Paper-BM-123

Time : Three Hours] [Maximum Marks : 40

Note : Attempt five questions in all. Q. No. 1 is compulsory.
Select one question from each section.

Compulsory Question
1. (a) Evaluate { . (jxk)+ (i x mv.m 2

(b) If r=|F|, where F=xi+yj+zk, prove that
Viryx7=0. 2

(¢} Let u, v, w be orthogonal co-ordinates. Prove that

é,=E, ¢,=E, ¢=E, 2
tfdF _d¥
= 2 27 34 ar . ar
) If 7=26 + 3] - £k, evaluate _H. | 2
SECTION-I

—

2. (a) If 4, b, ¢ are three unit vectors such that

. i -
b x(c xd) =5 ¢, find angles which b makes with
and @; ¢ and @ being non-parallel, 4

e 2t

1474/3,700/KD/1388 [P.T.O.



(b) Prove that (b x )X (¢ x@)=[a b ¢]&, and hence
deduce that [b6XE &xa dxb]=[abcP, 4
3. (a) Showthat [@+b b+ ¢+d)=2ahc). 4
(b) The neccessary and sufficient condition for the vector
function w of a scalar variable ¢ to have a constant
itude is f L/ 4

magnitude 15 J . ar

SECTION-II
4. (a) Find the directional derivative of Aoy, d=xy+yz+2zx
in the direction of the vector 2i + 37 + 6k at the point
3,1, 2. 4
(b) Show that r"# is irrotational where 7 = x{ + yj + zk
and |F|=r, 4
5. (a) Explain geometrical interpretation of grad ¢. 4
(b) Prove that V2f(r)= W i+ 7. 4
SECTION-III
6. (a) Express the vector field 2yi — zj + 3xk in spherical
polar co-ordinates. 4
(b) Prove that spherical co-ordinate system is self-
reciprocal. 4
1474/3,700/KD/1388 2

7. (a)
(b)
8. @
)
9. (a
(b)

4

Prove that u = xy, v=

s W = Z are not

orthogonal. 4
SECTION-IV

Evaluate by Green's theorem

%Ano: sin y — xy) dx + sin x cos y dy
C

where C is the circle x2 + y2 = 1. 4
Evaluate by Stoke's theorem

%Ama&h + 2y dy —dz),
C

where C is the curve x2 + y2 = 4, z = 2. -4

Evaluate ._.._‘Qu dydz+ y dzdx + 2° dx dy) over the
s

surface S of a cube bounded by the co-ordinate planes
and the planesx =y =z = q. 4

Show that the area bounded by a simple closed curve
1
Cis given by 3 %x dy — y dx . Hence find the area of
C

the ellipse x = a cos 8, y = b sin 6. 4

1474/3,700/KD/1388 3
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GSE/M-22 1477

PROPERTIES CF MATTER AND KINETIC
THEORY OF GASES
Paper—Physics-1

Time : Three Hours] [Maximum Marks : 40

Note : Question No. 1 is Compulsory. Attempt five questions by
selecting one question from each unit.

Compulsory Question

1. (a) Discuss the Physical Significance of Moment of

Inertia. 2
(b) What are the limiting values of Poisson Ratio? 2
(¢) Under what conditions real gases behaves as ideal
gas? - 2

(@) Define and write down the formulae for Most Probable
Speed, Average Speed and Root mean Square Speed.
2

UNIT-1

2.  State and Prove Theorem on Parallel axis and Perpendicular
Axis, (4+4)

3. Derive an expression for moment of inertia of a solid cylinder
of Radius 'R’ and Length 'L' along the principal axis and
along the axis passes through center and perpendicular to
principal axis. 8

1477/3650/KD/515 [P.T.O.



UNIT-1I

(a) Derive the relation between Young Modulus, Bulk
modulus and Possion Ratio. 6
(b) Prove that the compressional strain and extension
strain are equal to half of shearing strain. 2

What do you mean by Bending Moment? Derive an
expression for Bending moment of beam clamped at one

end and loaded at other (Ignoring the mass of beam). 8

UNIT-III

(a) Derive expression for critical temperature, pressure and
Volume in term of Vander-waal constants. 6
(b) What is Kinetic energy of translation for oxygen
molecule at 27°C? 2

State the basic postulates of Kinetic Theory of gases and
prove that the pressure exerted by the ideal gas is 2/3 of the
translational Kinetic energy of the molecules per unit volume
of the gas. 8

UNIT-IV

(a) Discuss mean free path of a gas. Derive an expression
for it and show that it is inversely proportional to

density. 6

1477/3650/KD/515 2

(b) How the Maxwell distribution of velocity can be

verified experimentally? 2
9. (a) Derive an expression for thermal cunductivity from
kinetic theory of gases. 6
{b) Find the most probable speed for nitrogen at 20°C.
Given that the molecular weight of nitrogen is 28,
R = 8315 J mol~! K1,
1477/3650/KD/515 3
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GSE/M-22 | 1478

SEMICONDUCTOR DEVICES
Paper : PH-202

Time : Three Hours] {Maximum Marks : 40

Note : Attempt five Questions in all. Selecting one question from

each unit. Question No. 1 is compulsory.

(b)

©)

(d)

2. (a)

(b)

Compulsoiy Question

Why the mobility of electron is higher than hole? 2
What is the importance of leakage current in a
transistor? 2
What is the best transistor configuration for amplifiers,
and why? 2
Explain Barkhausen criterion of sustained oscillations

in an oscillator. 2

UNIT-1

What is Zener break down? Explain the working of
Zener diode as voltage regulator. 5
What is Ideal diode? Why an ideal diode is called
ideal? 3

1478/3650/KD/516 [P.T.O.



(b)
4., (a)
(b)
5. (a)
(b)

What is LED? Describe its mechanism. In what way
LED is superior to other lamps? How are different

coloured LED made? 5

What is Hall effect? Why is the hall effect more

effective in a semiconductor? 3
UNIT-I1

What is a Transistor? Describe with the help of circuit
diagram the input, output and transfer characteristics
of a PNP transistor in C.E. configuration. 5

A transistor has a base current of 40 pA. If B,_is 100
and [, is 5 pA, find its current gain. 3

Explain the term biasing. Why it is necessary to bias
a transistor? What are the requitements of proper

biasing? 5

What is Quiescent point? Why it is selected at the

centre of active region? 3
UNIT-II

6. Discuss working of an Resistance-Capacitance coupled

amplifier and explain the frequency response for different
ranges of frequency and band width. 8

7. (a)

What do you mean by negative feedback in transistor
amplifier? Explain how the negative feedback in an
amplifier improves the input impedance, band width
and gain stability. 5

1478/3650/KD/516 2

(b) The voitage gain of an amplifier is 100 and its band
width is 100 kHz. If a negative feedback with feedback
fraction 0.01 is applied, find the gain and band width
of amplifier with feedback. 3

UNIT-IV
8. (a) Discuss the basis principle of an oscillator. Draw the
circuit diagram and explain the working of a Hartley
Oscillator. 5

(b) The L.C. tunned circuit of a tunned collector oscillator
in a radio recetver has inductor of 50 uH and capacity
of 200 pF. What is the frequency of oscillations? 3

9. Draw the functional block diagram of Cathode Ray

Oscilloscope. Explain the function of each block in brief.

Describe also how the frequency of a wave is measured by

a Cathode Ray Oscilloscope. 8

1478/3650/KD/516 3
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GSEM-22 1479

CHEMISTRY
Inorganic Chemistry (Theory)
Paper-IV (CH-104)

Time : Three Hours] fMaximum Marks : 32

Note : Attempt five questions in all, selecting fwe questions from
each Section. Question number 1 is compulsory.

1. (a)
(b)
(©)
(d)

(e)
(f)

(g)

(h)

Compulsory Question
Draw the structure of beryllium oxalate.
What do you mean by crown ethers?
Which has more density : Water or Ice?

Why Xenon (Xe) has higher boiling point than
Krypton (Kr)?

Write formula and draw the structure of Borazine.

Which out of the following is a monobasic acid and
why? H,PO, or H,PO,.

Name the very first compound of noble gases which
was synthesized by N. Bartlett in 19627

What is aqua regia? (1x8=8)

1479/3050/KD/876 [R.T.O.



SECTION-A

2. (a) Explain, which has higher boiling point : o-nitrophenol
or p-nitrophenol? (2)
(b) Why water has maximum density at 4°C? (2)
(c) Discuss n-type and p-type semiconductors with
example. (2)
3. (a) Draw the structure of [Ca(EDTA)}?". ()
(b) Explain, why does Lithium form normal oxides, sodium
form peroxides and potassium form superoxides? (2)

(c¢) Explain, why sodium metal cannot be stored in water?
(2)

4. (a) Discuss biological importance of alkaline and alkaline
earth elements, {2)
(b} Which alkali metal acts as strongest reducing agent
and why? 2)

(c} Discuss the structures of XeOF, & XeF, molecules.
(2)
5. (& Why H,O is a liquid whereas H,S is a gas at room
temperature? (2)

(b) Discuss Band Model of bonding in metals. )
{¢) Write a short note on Van der Waals forces. (2)

SECTION-B
6. (a) Compare acidic properties of HCIO and HCIO,. (2)
(b) Explain amphoteric nature of Al,O,. (2)
(c) Define catenation. Why does carbon show higher
catenation property than any other element? (2)
1479/3050/KD/876 2

(b)

(c)

(b)

(c)

9. ()

(b)

(c)

Discuss structure and bonding in diborane. )
What is back bonding? Explain it with reference to
boron halides. (2)
Discuss properties and uses of fluorocarbons. (2)
Discuss the structures of P,O, and P,O,. (2)
Out of H,O and H,S, which has higher bond angle
and why? (2)
Write about important uses of hydrogen peroxide
(H,0,). (2}

Arrange the following acids in decreasing order of

their acidic strength : HF, HBr, HCI and HI. (2)
Why pentahalides are more covalent than trihalides?

(2)
Discuss the structure of A1CL,. (2)

1479/3050/KD/876 3



9. (a) Explain the type of titration curve obtained in the
conductometric titration of :
(i) HCI solution with NH,OH solution.
(i) CH,COONa solution with HCI solution. (3)
(b) How conductance measureraents can be used to find
the solubility of a sparingly soluble salt? (3)
1480/3050/KD/543 4

Roll No.

Time : Three Hours]

Total Pages : 4

1480

GSE/M-22

PHYSICAL CHEMISTRY
Paper-V (CH-105)

[Maximum Marks : 32

Note : Attempt five questions in all, selecting rwo questions
from each Section. Question No. 1 is compulsory. Use of
Log-table and Non-programming calculator is allowed.

Compulsory Question

1. (a) Whatis 'Half-life period' of a reaction? Write a general
expression for half-life period of nth order reaction.

(1%2)

(b} Write the unit of rate constant for third order reaction.
e

{c) What is Boltzmann factor? What does it tell? (1%)

(d) What is the basic principle underlying conductometric
titrations? (hH

(e) Define molar conductivity. (1

(f)  Why does the pH of the buffer solution consisting of
acetic acid and sodium acetate not change when a few

drops of HC1 are added to it? (2)

SECTION-A

2. (a} Derive an expression for the rate constant for a second
order reaction of the type 2A —» Products. (3)
1480/3050/KD/543 [P.T.O.



(b) What is a zero order reaction? Explain with suitable
example. (2)
(c) Does the rate of reaction remain constant throughout
the reaction? Why or why not? (1)
3. (a) What is order of reaction? Discuss one method for
determining the order of reaction. (3)
{b) Show that in case of a first order reaction, the time
required for 99.9 % of the reaction to take place is
about ten times that required for half the reaction.(2)
(c} Why reactions of higher order are rare? (1)
4. (a) Briefly describe Transition state theory of reaction rates.
(3)
(b) The rate constants of a reaction are 1x10~ sec™! and
2x1073 sec™! at 27 °C and 37 °C respectively. Calculate
the activation energy of the reaction. (2)
(c) What is the difference between average rate of reaction
and instantaneous rate of reaction? (1)
5. (a) Briefly explain the effect of solvent on the rate of
reaction. (2)
(b) Express the rate of the following reaction in terms
of difierent reactants and products :
4 NH; (g) + 5 O, (g)-»4 NO (g) + 6 H,O (g).
If the rate of formation of NO is 3.6 x10=> mol
Lt s7! calculate.
(i) The rate of disappearance of NH, (ii) rate of
formation of H,O. 3
(c) Why the rate of reaction becomes nearly double for
10 °C rise in temperature? (1
1480/3050/KD/543 2

(b)

{c}

(b)

{c)

(b)

{c}

SECTION-B
Briefly explain three facts which lend support to
Arrhenius theory. (3)
How do specific conductivity and egquivalent
conductivity vary with dilution and why? (2)
Solutions A and B have pH equal to 2 and 4
respectively. Which solution is more concentrated and

how many times that of the other? (H

Write Debye-Huckel Onsager equation in complete
form. What do different symbols signify? How the
equation can be verified to be correct? (3)
A buffer solution is prepared from an acid of
dissociation constant 2x107¢ and its sodium salt, What
will be the molar ratio of the salt to the acid per litre
in buffer solution of pH 6.87 (2}
What are the units of specific conductivity and

equivalent conductivity? .

State and explain Ostwald's Dilution Law. (3)
At 293 K, the equivalent conductance at infinite dilution
of HCI, OIWOOOZm and NaCl solutions are 383.5,
78.4 and 102.0 ohm™! cm? equiv-! respectively. If the
equivalent conductance of CH,COOH at some other
dilution is 100.0 ohm lcm? mnc?L at 293 K, calculate
the degree of dissociation of acetic acid at that dilution.

(2)
What is '‘Buffer Capacity'? (1)

1480/3050/KD/543 3 [PTO.
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GSE/M-22 1481

ORGANIC CHEMISTRY
Paper—CH-106

Time : Three Hours] [Maximum Marks : 32

Note : Attempt five questions in all. Question No. 1 is

(b)

(c)

(d)

compulsory. Select rwo questions from each Section.

Compulsory Question

Give IUPAC names of the following compounds :
CH,—CH—C=CH , CH,—CH—C=C—CH,

CH, CH,

Out of cis 2-Butene and frans 2-Butene, which has

higher boiling point, and why?

Give the name and structure of electrophiles generated
in Nitration and Friedel Craft Alkylation reactions in
aromatic electrophilic substitution.

Give the preparation of Ethyl bromide by Hunsdiecker
reaction. (2x4=8)

SECTION-A

Explain Saytzeff rule with the help of
dehydrohalogenation of 2-Bromobutane with alc. KOH.

1481/3,050/KD/562 [P.T.O.



(b)

Explain in detail the rearrangement process occurring
during the addition of HBr to 3-Methylbut-1-ene.

(3.3)
3. (a) Write the reaction and mechanism of dehydration of
2-Butanol with conc. H,SO, to give alkene.

(b) Discuss the reaction and mechanism of oxidation of
2-Methylbut-2-ene with perbenzoic acid. Also give the
ring opening reaction of the resulting epoxide in basic
medium. (3.3)

4, (a) Explain o, p-directing and activating nature of
-NH, group.

(b) What is meant by Aromaticity? State Hiickel Rule and

explain with suitable examples. (3,3)
5. (a) What are Annulenes? Give one example each of an
aromatic, antiaromatic and non-aromatic annulene.

(b) Give the reaction and mechanism of Sulphonation of
benzene. (3,3)

SECTION-B
6. (a) What are Dienes? Give their classification with one
example each.

(b) Explain the acidic nature of terminal alkynes.  (3,3)

7. (a) Explain the addition of HBr to 1,3-Butadiene along
with mechanism.

(b) Write the reaction and mechanism of Birch reduction
of 2-Butyne with Na-Lig.NH,. (3,3)

1481/3,050/KD/562 2

(2)

(b)

(a)

(b)

Give Addition-Elimination mechanism of Nucleophilic
Aromatic Substitution in Aryl halides.

Convert CH,Br into (i) CH3NH, (ii} CH;CN
(iii) CH;OCH,. (3,3)

Discuss the mechanism and stereochemistry of Sy1
reactions.

Discuss the factors affecting Sy2 reactions. 3,3

1481/3,050/KD/562 3
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GSE/M-22 1482

ENGLISH
Paper-II

Time : Three Hours] [Maximum Marks : 40

Note : Attempt all questions :

1.

Read the following passage and answer the questions given
at the end :

This time-crunch is often held as the prime culprit. With
syllabi overloaded with subject matter, harassed teachers
addressing huge classes and many outside interruptions like
bandhs and holidays, who has time to answer pupil’s
questions or to encourage a new line of thinking? It will
take a long time for our law-makers to get their priorities
right and encourage more schools, smaller classes and syllabi
that emphasise comprehension rather than an excess of

information.
(i) Name the essay and its author.

(i) Why don't teachers have time to answer pupil's

questions?

1482/4,700/KD/629 [P.T.O.



(iii) What outside interruptions are mentioned in the
passage?
(iv) What should our law makers do to set our present

education system right?

(v) Use the word 'huge’ in a sentence of your own.
OR

Untouchability will vanish only when the whole of the Hindu
social order, particularly the caste system will be dissolved.
Is this possible? Every institution is sustained by some sort
of a sanction. There are three kinds of canction which supply
life force to an institution. They are legal, social and religious.
The vitality of the institution depends upon the nature of the
sanction. What is the nature of the sanction behind the caste
system? Unfortunately, the sanction behind the caste system

is religious sanction.
(i) Name the essay and its author.

(i) When will untouchability disappear from the Hindu

social order?

(iii) What are the three kinds of sanction which supply life

force to an institution?

(iv) What kind of sanction is working behind the caste
system?

(v) Use the word 'vitality' in a sentence of your own. 5

1482/4,700/KD/629 2

2,

Explain with reference to the context : Most of the previous
civilization known to history came to end because vigorous
but uncivilized peoples broke in upon them and destroyed
them. This was the fate of Babylon and Assyria; it happened
over and over again in India and China; it brought about
the end of Greece and the fall of Rome.
OR

War becomes just a game or an exercise, even if it begins
as a struggle fought for understandable aims. Symmetry
and reciprocity disappear. One can produce death as one
produces spark plugs or computer chips. No one feels the

pain of automobile parts of electronic circuits. 3

Answer any four questions in about 30 words each :

(1) Why does C.E.M. Joad compare the modem civilization
with previous ones? What does the comparison show?

OR
Which innovation did Narlikar introduce for autograph

seekers?

(ii) What is Dr Barnard's view about apartheid?
OR
What does Dr Ambedkar say about untouchability and
the caste system?

1482/4,700/KD/629 3 [P.T.O.



(iii) What are the three barriers in the matter of social
intercourse which the ordinary uneducated Hindu must
observe.

OR
How does Huck Gutman trace the growth of

mechanization in warfare?

(iv) What is the point of comparison between Walt Whitman
and Melville as war poets?
OR
Explain the far-reaching effects of unequal ownership

of property for women. 6

What aspects of our civilization does C.E.M. Joad choose
for its praise? Give a brief description.

OR
Summarise the main argument of Huck Gutman's essay "In

humanisation of War". 6

Translate the following passage into Hindi.

We sometimes think it would be very nice to have no work
to do. How we envy the rich people who have not to work
for their living, but can do just what they please all the year
round. Yet when we feel like this, we make a mistake.

Sometimes, rich people are not as happy as we think they

1482/4,700/KD/629 4

are, because they are tired of having nothing to do. Most of
us are happy when we have regular work to do for our
living, especially if the work is what we like to do. The first
thing work does for us is to give us happiness. Then work
gives us self-respect. Lastly, regular work helps to build up
character. : 5
OR
(For non Hindi Speaking/Foreign students only)

Read the following passage and answer the questions that

follow :

Discontentment is the root cause of all unhappiness.
Contentment is a bliss whereas discontentment is a curse.
The more discontented we are, the more unhappy we are.
We may have large amounts of money in the bank, we
may own vast farms or factories, we may be monopolists
with a powerful control over sources of income, we will
never be happy if we are discontented. A discontented man
is always a slave to his desires. He acts as his own enemy.
He doesn't care for position or prestige. He doesn't care for
his mental and physical health. We wants only the satisfaction
of his desires. He can act as his own friend if he acquires
contentment but he doesn't do so. It is in his own hands to
be free or to be a slave. If he controls his desires, he becomes
free, but if he is controlled by his desires, he become a

slave,

1482/4,700/KD/629 5 [P.T.O.



Questions :

(i) What is the root cause of all unhappiness?

(i) What is a blessing and what is a curse?

(iii) What kind of a man is a slave to his desires?

(iv) Give the meanings of the following words and use
them in sentences of your own :
(a) Desires.
(b) Prestige. 5

Make a precis of the following passage and give it a suitable
heading.

Freedom has assuredly given us new status and new
opportunities. But it also implies that we should discard
selfishness, laziness and narrowness of Qutlook. Our freedom
suggets toil and creation of new values for old ones. We
should so discipline ourselves as to be able to discharge our
new responsibilities satisfactorily. If there is any one thing
that needs to be stressed more than any other in the new
set-up, it is that we should put into action our full strength.
Work, unceasing work, should be our watch-word. Work is
wealth and service is happiness. The greatest crime in India
today is idleness. If we root out idleness, all our difficulties,
including even conflicts, will gradually disappear. Whether

as a constable or high official of the state, whether as a

1482/4,700/KD/629 6

businessman or an industrialist, an artisan or a peasant, all
of us should discharge our duties with dedication. Honest
work is the sheet-anchor to which we should cling if we

want to be saved from danger or difficulty. It is the

fundamental law of progress. 7

Write a letter to the editor of @ newspaper highlighting the
evils of dowry system.

OR

to the Deputy Commissioner of your district

complaining about encroachments made by shopkeepers in
your area.

Write a letter

8

1482/4,700/KD/62¢ 7
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GSEM-22 1485

DIVERSITY OF ARCHEGONIATES
Paper-I

Time : Three Hours] [Maximum Marks : 40

Note : Attempt five questions in all. Select two Questions from

each unit. Question No. 1 is Compulsory. Draw neat and'

well lebelled diagrams.

Compulsory Question

1. Give short answer of the following :

(a)
(b)
(c)
(d)
(e)
(0
(8)
(h)

Why bryophytes are known as Amphibious plants?
Zygotic Meiosts.

Appospory.

Protogyny and Protandry.

What is the function of Elators?

Why Anthoceros is called Homwort?

What are Resurrection Plants?

What type of stele is found in the Rhizophore of
Sellagenella? (1x8=8)

1485/1400/KD/544 [P.T.O.



SECTION-A

Write elaborate notes on following :

(a) Internal structure of Marchantia thallus with suitable
diagram. (5

(b) Describe the structure of sporophyte of Anthoceros
with diagram. (3)

Explain the identifying characters of Marehantia and
Anthoceros by comparing the external and internal structure

of gametophte. Draw suitable diagram if required. (8)

(a) What is the significance of Mucilage cavities in the
thallus of Anthoceros? (2)
(b) Discuss the evolutionary importance of the sporophytic
generation of Anthoceros. (3)
(c) Write a short note on reproductive structure of
Anthoceros. (3)

Discuss the following in FUN ARIA :

(a) Primary and Secondary Protonema. (3)
(b) Ligule and its fimction. )
(c) Dehiscence of Capsule and dispersal of spores. (3)

SECTION-B

Explain the locality and reconstruction of the sporophyte
giving internal structure of the stern of RHYNIA. (8)

1485/1400/KD/544 2

7.

Describe the following :
(a) Significance of Heterospory in the lifecycle of

Selaginella. 3
(b) What characteristics indicate that Rhynia is a
land plant? (2)
(c) Structure of Sporophyte of Pteris. (3)
8. Give a detailed account of Mature Gametophyte and process
of fertilization in PTERIS. (8)
9. Describe the life history of Equisetum with suitable diagram.
(8)
1485/1400/KD/544 3
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GSE/M-22 1486

GENETICS
Paper-II

Time : Three Hours] [Maximum Marks : 40

Note : Attempt five questions in all, selecting two questions from

each unit. Question No. 1 is compulsory (short answer
type). All questions carry equal marks.

Compulsory Question

1. Answer the following :

(a)
(b)
(c)
(d)
(e)
()
(2)
(h)

Differentiate between a nucleotide and a nucleoside.
What do you mean by genetic code?

Define Linkage.

What are duplicate genes?

Define transposons.

What is transcription?

What is operon concept?

What are plasmids? (8x1=8)

UNIT-1

2. Discuss the process of DNA replication in prokaryotes. 8

3. How will you justify the statement, "The genetic code is
triplet, commaless and non-overlapping.”? 8

1486/1400/KD/545 v.f/ [P.T.O.



S.

Write upon :
(i) Law of independent assortment.
(ii) Linkage maps

Write notes on :

(i) Incomplete dominance.

(ii) Inhibitory genes.
UNIT-11

(a) Discuss various types of plasmids.
(b) Write a note on DNA repair.

Explain the process of translation in protein synthesis.
How gene action is regulated in prokaryotes?
Write notes on :

{1} 3-D structure of proteins.
{ii) Role of mitochondria in cytoplasmic inheritance.

1486/1400/KD/545 2
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GSEM-22 1487

LIFE AND DIVERSITY FROM ANNELIDA TO

ARTHROPODA AND GENETICS-I
Paper-1

Time : Three Hours] [Maximum Marks : 40

Note : Attempt five questions in all. Select two questions each
from Section A and B. Draw diagrams wherever required.
Question No. 1 is compulsory.

Compulsory Question

1. Give short answers to the following questions :

(a)
(b)

(c)
(d)
(e)
()
(8)
(h)
(i)

)

Pygidium.

Difference between metamerism in annelids and

arthropods. )

Arthropoda.

Difference between centipede and millipede.

Ecdysis.

Test cross.

Compare epistasis and dominance.

Recombinant progeny.

A couple have a colour blind daughter and son wtih

norma] vision. What are the genotypes of the parent in

this cross?

Why is Cytoplasmic inheritance uniparental?
(Ix10=10)

1487/1400/KD/621 . ® [PTO.



SECTION-A

2. Classify the Phylum Annelida upto order level listing the
characters and examples of each group. TVa

3. Write notes on the following :

(a) Economic importance of Oligochaetes. 2\
(b) Mouth parts of Grasshopper. 2%
(c) Septal nephridia of Pheretima. 2

4. Explain the following :

(a)
(b)

()

5. (a)

(b)

(b)

Spiracles in Grasshopper. 2
Difference between Pseudometamerism and
Metamerism in Annelids. 21
Labelled diagram of Female reproductive system of
Grosshopper. 3

Explain the Respiratory system of Grosshopper in
detail. 3%
Describe the Male reproductive system of Grasshopper.

4

SECTION-B

Explain the Law of Independent Assortment with the
help of a suitable example. 5'%
What is Linkage? State the Chromosome theory of
linkage. 2

7. What is Dominance? Explain different patterns of dominance
with suitable examples. T2

1487/1400/KD/621 2

8.

Write notes on the following :

(a)
(b)

(a)
{(b)

(¢}

Inheritance of Sex-linked disorder haemophilia. 3%
Inheritance of Shell coiling in snail Limnaea. 4

What is a chromosomal map? Give its significance. 2
Give an account of XX-XY mode of sex determination.

3
Discuss different types of Crossing over. 2Y

1487/1400/KD/621 3
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ANC ENETCS-I

—

MhE—o— Marks : 40

'ui Quemaecx No. : 15 compulsory.
g S cach section A and B.

(d) Codon.

{e) Rh factor.

(f) Redula of Pila.

(g} Turner's syndrome.

(h) Synapticula.

(i) Okazaki fragments,

(i) Tube feet. (10x1=10)

1488/1400/KD/546 &@ [P.T.O.




SECTION-A

(a) Make a well labelled diagram of Pallial complex of
Pila.

(b) Describe the Bipinnaria larva of Echinoderm.
(5+2Y2-7'4)

(a) Describe the water vascular system of Asterias.
(b) Give an account of Torsion and Detortion in Gastropods.

(4+3'2=T'2)

(a) Write down about the general characters and

classification of phylum Mollusca upto order level.

(b) Make a list of various larvae of Echinoderms.

(5+22=T"2)

(a) Describe the structure and metamorphosis of Tomaria

larva.
(b) Write down the various external characters of
Balanoglossus. (5+2V2-T'4)

SECTION-B

Give an account of human blood groups and their

inheritance. T4

1488/1400/KD/546 2

Describe the following abnormalities
(a) Down Syndrome.
(b} cri due chat Syndrome.

(¢) Supermales and Superfemales. 2Vax3=71

Describe the structure and various types of RNA. 72

Explain the following :
(1) Frame shift Mutation.
(i1) Aneuploidy.

(iii) DNA finger printing. 2Vax3=TY2

1488/1400/KD/546 3
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GSE/M-22 1491

ELECTRONIC DEVICES AND CIRCUITS-II

Paper-1
Time : Three Hours] [Maximum Marks : 40
Note : (i)  There are nine questions in this paper. All questions
carry equal marks.
(i)  Attempt five questions in all.

(iii
{iv

(b)
()

(d)

b)

1451/200/

) Question No. 1 is compulsory.
) Attempt remaining four questions by selecting only
one question from each unit,

Compulsory Question

What do you mean by transistor Biasing? 2
What are the requirements of a biasing network? 2
Why transformer coupling is not suitable for small

frequency signal amplification? 2

What are the advantages of the FET over the

conventional transistors? 2
UNIT-1

Explain biasing arrangement in collector-to-base hias
circuit. 5
Where the operating point shouid lie in the

-

characteristics and why? 3

KD/548 saHEB[PTO



Explain with the help of circuit diagram, biasing

arrangement in fixed biased circuit. 5
{(b) Discuss the selection criterion of operating point. 3
UNIT-11

4. (a) Explain voltage divider biasing arrangement in

detail. 5

(b) Discuss qualitatively why seif-bias circuit is an

improvement on the fixed bias circuit, as for as stability

1S concerned. 3

5. (a) What do you mean by Virtual ground? Under what

conditions the emitter terminal is at virtual ground in

emitter-bias circuit? 4

(b) Discuss the gain in multi-stage amplifier. 4

UNIT-1I

6. (a) With the help of circuit diagram, discuss direct coupled

amplifier. 4

(b) Explain frequency response of two stage R-C coupled

amplifier. 4

7. {a) Discuss two stage R-C coupled amplifier in detail and

calculate its overall gain. 5

(b) Discuss advantages and disadvantages of transformer

coupling. 3
1491/200/KD/548 2

8. (@

(b)

{b)

UNIT-}V

Draw and explain the drain and transfer characteristics
of N-channel enhancement MOSFET. 6
Define pinch off voltage in field effect transistor. 2

Draw and explain the drain characteristics of N-channel

JFET. 6
Why enhancement MOSFET cannot be used in
depletion rmode? 2

1491/200/KD/548 3
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GSE/M-22 1492

DIGITAI. ELECTRONICS-I
Paper—II

Time : Three Hours] [Maximum Marks : 40

Note : Attempt five questions in all. Question No. I is
compulsory. Select one question from each unit.

Compulsory Question

1. (a) What are the advantages of binary number system ? 1

(b) Distinguish between 1's and 2's complement. 1

(c) What is meant by SOP and POS form of Boolean

expression ? Give examples. 2

(d) Define Duality theorem. 1

(e) Define Fan-in and Fan-out. - I

(f)y Define Parity and Parity bit. 2
UNIT-1

2. (a) Convert the following hexadecimal numbers to octal
and decimal number :

(1) B2F8

(i) 3C27.4D 4
(b) Perform the following using 2's complement method :

i -179 - 137

(i) 219 - 530. 4

1492/200/KD/1387 . ‘Jn\ﬁ..H.O.



Describe the Gray code. What are its peculiar
characteristics ? Explain with an example conversion

of Gray to binary code. 4
(b) Explain Parity bit code. 2
(¢) What are BCD numbers ? Distinguish between a binary
and a BCD code. Write 8421 codes for decimal
numbers 0 to 9. 2
UNIT-1I
4., (a) Explain how AND, OR and NOT gates can be realized
using NAND gate only. 2
(b) Express the following in SOP form :
i fxy 2)=1
(i} fix,y, 2) = (XY + Z) (Z + ZY). 2
(c) Prove the following :
) WX+XY+YZ+XZ=X+YZ.
(i) XY+ XZ+YZ=XY+XZ. 4
5. (a) Minimize the following function using K-map and
realize it with AND, OR and NOT logic gates :
fix,y,z,w)y=Zm (1, 2, 3, 6, 8, 12, 14, 15) 4
(b) Reduce the following :
(i) F=AB+AC+ ABC(AB+ ()
(i) F=AC +BCD + ABC + ACD. 4
1492/200/KD/1387 2

(a)
(b)

(a)
{b)

(a)

(b)

UNIT-11I

Discuss RTL. NOR gate. What are its limitations 7 4
Write a short note on Unipolar and Bipolar logic
families. 4
Discuss MOS inverter circuit. 3
Explain the working of CMOS NOR gate with circuit
diagram. 5

UNIT-1V

What is a Full-subtractor ? Draw and explain the circuit
diagram of a full-subtractor using two half subtractors
using NAND gates. 4

Draw and explain a 2's complement adder/subtractor.
4

Design a railway track switching circuit using AND, OR and
NOT gates for the following operations :

“A railway station has three platforms A, B and C. The trains
can come from either direction. The trains are to be routed
to these platforms in order of preference A, B and in the last
to C. Each platform has a switch which will be turned ON if
it is occupied. There are two outer signals S; and S, on
either side of the railway station which will be either green
or red. There are two track changer switches S, and Sg
which allow changing the tracks.” 8

1492/200/KD/1387 3
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GSE/M-22 1493

PROGRAMMING IN 'C’
Paper-1

Time : Three Hours] [Maximum Marks : 40

Note : A candidate will be required to znswer five questions in

all, selecting one question from each unit in addition to
Compulsory Question No. 1. All questions carry equal

marks.
Compulsory Question

1. (a) Write short note on assignment statement in 'C'
language. 2

{(b) Explain the concept of type casting and conversion in
'C' language. 2

(c) What is the purpose of break statement in 'C’ language?
Give example. 2

(d) Differentiate between structure and union in 'C’
language. 2

UNIT-I

2.  What are the rules for writing constants and identifiers in 'C’

language? Give at least four examples of valid constants
and identifiers and four examples of invalid constants and
identifiers. 8

1493/1700/KD/549
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Explain the purpose and syntax of scanf(), getchar(), gets(),
printf(), putchar() and puts() functions in 'C' language. Give
examples of each. 8

UNIT-11

Define operator. Explain various types of operators
available in 'C’. Give suitable examples. 8

Explain various decision making control structures
available in 'C’ language. Write their syntax and give suitable
examples. 8

UNIT-1IT

Explain different types of loop control statements available
in 'C' language. Write their syntax and give suitable
examples. 8

Define function along with its purpose. Elaborate the different
parameter passing mechanisms in 'C' language. Give suitable
examples. 8

UNIT-IV

Elaborate on the concept of auto, register and static storage
classes in 'C'. Explain using appropriate examples. 8

What is the significance of arrays? Give its types. How the
arrays are declared, initialized and processed in 'C'? Explain
with the help of any 'C' program of your choice. 8

1493/1700/KD/549 2
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GSE/M-22 1494
LOGICAL ORGANIZATION OF COMPUTERS
Paper-11
Time : Three Hours] [Maximum Marks : 40

Note : Attempt five questions. Q. No. 1 is compulsory. Select
one question from each unit.

Compulsory Question
1. (a) Write the full form of ASCII, EBCDIC.
(b) Prove by induction (a + b) + c=a + (b + ¢).
(¢) Make Venn diagram for OR and AND gate.

(d) Define Hamming distance. 8
UNIT-I

2. (a) () Convert (10.3),, to binary, octal and hexadecimal.
(ii) What is number in binary and octal for 2AF7 ?

(iii) Convert (101011101001), to octal and
hexadecimal.

(iv) What is number in binary and hexadecimal if
register stores high low high low ?

(b) Write two coding scheme for weighted code system.
8

1494/1,70 40 .T.O.
0/KD/13 N¢4 [P.T.O



Write note on Fixed Point and Floating Point notation.

(b) Perform 2's complement arithmetic
-36-02 and -09-21. 8
UNIT-1I
4. (a) Define Boolean algebra, differentiate it from ordinary
algebra and write its postuiates.
(b) Solve using Boolean algebra :
i Xy+yvi+zx=xy+x,
(i) abc +@bc + abc +tab . 8
5. (a) Draw and label 3 Variable K-map and solve for four
corners.
(b) () Solve using K-Map
Z=30,1,4,5 11 + £, 7, 10, 14, 15.
(i) Explain Full Adder using K-Map. g
UNIT-III
6. (a) Draw T.T. for 3 variable NOR and AND gates.
(b) Prove using Induction (truth table) for
abc=a+b+F¢,
(¢) Draw circuit for Y = (ab + ab) + abe.
(d) Prove NOR and NAND are universal gates. 8
1494/1,700/KD/1340 2

7. (a) Make circuit 10 to 4 line encoder.

(b) Make code convertor from 8421 to cyclic.

UNIT-IV

8. Explain JKFF, its problem as race around and its solution.

9. (a) Make Mod-16 synchronous counter.
(b) Make Shift register as Parallel in Parellet out.

1494/1,700/KD/1340
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GSE/M-22 1803

HUMAN PHYSIOLOGY
Course : 1lI

Time : Three Hours) [Muaximum Marks : 40

Note : Attempt Five questions in all. selecting at least one
question from each Uinit. Q. No. 9 15 compulsory. All
questions carry equal marks.

TAF TEE U FH T FH TS WA 9Ad 50, FF U

T F IO WU | v Hem 9 wfvasm 7o uefr

5

T % 3R THM T |
Unit 1 (Za&TE 1)

I, Explain the importance and process of Mitosis with

diagram. 8
fay wfeq EA-Tavsm 991 9 95w #1 =AwE FifET
2. Write short notes on the following : 8

(a)  Liver working

{b) Pancreas.

w7 Hfym feoforat =
(=) #ga =
() TAEMA |

3. Lxplain various types of Bones present in human body. 8
AR vER H U s oard fAtee wen ow) st &
SN BT |

{6-03/1) L~1803 PO



4. Explain the structure and function of Heart. 8 (dy  Trachca

B3 HI W T FHE wH F fay w1 ogui Eaticeal ()  WRB.C. (White Blood Cells
Unit 1L (g&TE 11) (N ANS (Awtonomous Nervous Suster s

5. Define Excretory Svstem. “xplain the structure and (2)  Mitochondria

functioning of kidney. 8 thy  Liven

SHSH ¥ % AR H AARY | T F T 9 w0 T FeT E 2.3 T :

EREEET s (@) =™
6. Enlist the functions of Lungs. Explain the structure of (=) ﬁﬂﬂ GlEe!

Lungs. 8 (F) AFH

FHE # wE R wias Wem o Ged w wem (7) e

) (2) I%g 7 =
| () AT T

7. Write short notes on the fotlowing - 8 (M)

(ay  Menstrual Cycle (%)

(b)  Fertilization.

frefafen w wfs foofml fafao .

(R) WEE =

(9) froem
8. Write in detail about Peripheral Nervous Svstem, 8

e A 9 F AR F famwgEw fafan

Compulsory Question ( 31far 9y7)

9. Write in 2-3 lines each about the following terms ;8§

(a)  Neuron
(by  Hinge joint

(¢} Nephron

L-1803 2 (0-03/23 11803 3 1)
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GSE MWt-22 1804

FYyZNrTr s NT O DNTiNT O SRCWTH AND
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oW LTETOY S JIeSLIT: Db AcoILDD Tol SuesLions

TR omat L TT o Do oiimrZaom Al guestions

!
t
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1.
i

“
W
Y
o"ln , .{I
9
I
d
|
¥

Compulsory Question ( 31 ard wy=)

L. Write short notes on the following : 2x4=8
(1)  Conception
(1)  Hand skills of infants
{111) Instrument birth
(iv)  Major adjustments nconate makes 1o service.

fr=fdfas = dfaw fewmfra? fafae .

() e
(i) fge = w= =w=ww

(2-04/3) 1.-1804 PT.0,
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GSE/M-22 1804
PRENATAL AND INFANT GROWTH AND
CARE

Paper 112
Time : Three Hours] [Maximum Marks : 40

Note :  Attempt Five questions in all, sclecting fwo questions
from each Unit. Q. No. 1 is compulsory. All questions
carry equal marks.

TH SHEE W OR W TR g, we ue W &
W AT | WA dem 1 afed € 1 wd oy w

S0

Hw wHE F O
Compulsory Question ( 3tF&ERT Wy )

L. Write short notes on the following : 2x4=8
(1) Conception
(1)  Hand skills of infants
{111) Iastrument birth
(iv)  Major adjustments neonate makes 1o service.

fr=fdfeas = dfaw femfrgt fafau .

() e
() fmEd = v @

(2-04/3) 1.-1804 PT.0,
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(it} oo #1 wersa 9 S
asmﬁmﬂ%@mﬁﬂa%gﬁwﬁ
THAST |

Unit I (3eR1E 1)

Describe the physiological changes that occurs during

pregnancy. bt

Tt F e it ¥ s wta

Describe the stages of delivery. 8

S

ﬁmﬁwﬁgﬁﬁﬂ@aﬂ?a;

Explain the discomforts during pregnancy. 8
nufEE ¥ B A srfawen # s

Describe the factors affecting prenatal development. 8
THERAT frEE w wwfE oww A w91 s
Hif |

Unit TI (TS 11)

Write short notes on the following physical characteristics

of the newborn

{a) Reflex action 4
(b)  Hearing capacity. 4

s oy = wiRE favrmet W wne frovfr fate

(#1) erqfFmy

DI = 1 B eare

(2]

7. Discuss the social developmont of 127 rodrs old, b
0-2 =9 & oy =7 !

8. Discuss child rearing practices-hathing and wilet a1
of an infant. N

9. Discuss anv fieo respiratory diseases commonls occtn
during infancy. §
VIR W WEEIET 0 OE A vers e G o
A R ]

(2044 1804 3
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GSE/M-22 1805
LAUNDRY SCIENCE AND FINISHING OF
FABRICS
Paper 113
Time : Three Hours] [Maximum Marks : 40

Note : Attempt Five questions in all, selecting rtwo questions
from each Unit. Q. No. 9 is compulsory. All questions
carry equal marks.
ﬂﬂwﬁa@&ﬂﬁmﬁmm@_m@ﬂiﬂﬂ&%mﬂ
T | weT Hew 9 ofEd ® o udi v s
A E

Unit I (3@1E I)

1. What do you understand by laundry ? Describe the laundry
process. 8
Yo | T W OWHAd € 7 4ol W 9hEd w5 =
FHIT |

2. Discuss laundry equipments and their use. 8

Yol % ST SR S9E ITEm # =i e |
(3-05/5) 1.-1805 P.T.O.



What is Soap ? Discuss the types of soaps and methods
of manufacturing soap. 8
T T WG @ YRR SR e e w S
®I T= Fifwg

What do you understand by Bleaching ? Discuss the
types of bleaching agents ? 8
oo o o = wmeR ¥ 2 P ® wen =
Hifem |

Unit 11 (3&T¢ 11)
What are different types of stains 9 How stains can be

identified ? 8
T T TR B T ¥ 2 T w e wew veem o9
R ?

Write in detail about the care and storage of silk

clothes. 8
W wEl A R e e T e 2 A A
F gUH HifeT ¢

What is the importance of finishing processes ? Explain
singeing, shearing, brushing and tentering. 8
T AR 1 g € 2 e, o W s
AT AR e 1 avin wifw |

L-18065 2

8.

(3-05/6) L-1805

Discuss special purpose finishe: | Explain o s

detail, .

fovrm sivm wfeesned =1 == =

Compulsory Question ( 313 7o+ )

T

Write briefly : ) REFS
(@)  Composition of Soap

(b)  Sanforizing

(¢)  Fire proof 1inish

{d)  Grease Absorbanis.

ey H W_ﬁ@m :

(1) WA FT g

(F)  HRREhem

() & sy wfgs

(7) Tos e sevivs |

3 10
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GSE/M-22 1806
INTRODUCTORY HOME MANAGEMEN |
Paper : 114
Time : Three Hours] [Maximum Marks : 4(,

Note : Attempt Five questions in all, selecting two questions
from each Unit. Q. No. 1 is compulsory. All questions
carry equal marks.

YT THE 9 9 W TN BU, %o i W ® o
AT | w7 o 1 afrart ) whowe ® o
¥
Compulsory Question { 3tFad wg=) .
L. Define the following : 4x2=8

(a) Family life-cycle

(b) Management

(c) Standards

(d) Goals.

frafafea =t wforfem =it

(31) wREfiE sfad-w

(9) =hewe

(¥) =R

() @&g |

(5-06/6) 1-1806 P.T.O.



Unit [ (312 1)
“What is home management ? Explain its objectives. 8
Te ST F Y 7 3% IRTT waRT |
What is the role of family life-cvcle in home

management 7 8

Te-eRd ¥ wuiEfs Sea-mw S o ufie 0
Unit IT (Z&FTE 1)

Discuss the qualities of a good home maker. 8

UF St e & o w1 fadEm wifwg

What do you mean by managerial skills 2 How can vou
develop these skills ? 8
A Wl Al W o w oW € 7 s
s w PN fawfas W owEd ¥ 2

Unit ITI 3¢ 111)
Define Values. Discuss the characteristics of values., 8

T 7R ) e favsl # fdsm SR

What do you mean by goals ? Discuss characteristics of
¢oals 8

7 TR 2 TRt fomtvaeY # AR ¥ wamm |
Unit IV (3818 IV)

Write down about different types of decisions. 8

g % fafv=m gl @ Wr F =eEw

1-1800 2

What are Resources ? Explain the common characierisiics
of resources. b

A F T ) TR W favmst @ own § mann

(5-06/7) 1.-1806 3 190
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GSE/M-22 1807
BASIC NUTRITION
Paper : 115
Time : Three Hours) [Maximum Marks : 40

Note :  Attempt Five questions in all, selecting rwo questions
from each Unit. Q. No. 1 is compulsory. All questions
carry equal marks.
ﬂﬂmﬂw@&ﬂmmﬂmﬂ.ﬁiﬂi%
SW ST | v " 1 Aferd & 1wt gy w
FF TE F

1. Briefly describe the following : | 2x4=8

(1)  Sources of Carbohydrates

(i)  Role of Vitamin K in blood clothing

(ii1) Effect of deficiency of lodine in body

(iv)  Symptoms of Iron deficiency.

Frafafas =1 e & avir i

(i) weeRg % b

(if) ﬂuﬁmﬁaﬂwm%xﬂ%ﬂ
(iii) ﬁaﬁmﬁﬂ&ﬁﬁ%ﬂﬁﬂ

(iv) ¥R ¥ @t o # w0 & oo |

(6-03/3) 1-1807 . PT.O.



L

Unitl (3= 1)
What are ‘Lipids” ? Explain their functions n body. 8
.@ﬁ,ﬂ%wwﬂ?mﬁ%iﬂﬂﬂg_
What are the after effects of diet, deficient in fibre ? 8
ﬁum%ﬂ&ﬂgﬂi@%ﬂ@wﬂiﬂ
SHFRR Hfeu ) .
What do you understand by ‘Marasmus’ and
‘Kwashiorkor’ ? Explain. 8
RO ao FER ¥ 9w € 2 s
HifTy |
Explain the sources and functions of water, 8
T B WA A F B A A Frgds e wi
Unit IT (36T 11)

memE sources and functions of Vitamin A. 8

ot A & W @ w7 % W F ey e

Fifeg |

Describe in detail about functions and effects of deficiency

of ‘Folic Acid’. 8

Rl T F wE A E w Y e Ay

R T9 i |

Write short notes on the following :

(i)  RDA of Iron for adult man, adult women, pregnant
lady and lactating mother 4

(i)  ‘Fluorosis’ and ‘pellagra’. 4

L-1807 2

frafafes = e femfrel fafey .

() T F95F W, Fow wfeen, miEd o T
WA T WA wrem B ooww F s o
WAfed A

(i) ‘varfes’ T ‘Yo |

Discuss in detail about the ‘Rickets’. ‘Osteomalacia’ and

‘Osteoporosis’. 8

TE’,  sifedmeifen’ qor  sfeidifes o ELaR:

famm s <ifm

(6-03/4) 1.-1807 3 190



9. Explain any mo of the following : ‘ .
. Roll No. .....vrrrrenanen... . Total Pages : 04

(a)  Oxidoreductases and transferase enzyme , : ‘ 4

(b) Niacin : a water soluble vitamin : | : .m..mm\_S-NN 1808
(¢)  Phosphorus as nutrient. NUTRITIONAL BIOCHEMISTRY
Fefafes ¥ 9 f&st g =1 oig SIfNT . : Course 116

- Frreifes e

vav frafe © o Mﬁiﬂ fef Time : Three Hours] [Maximum Marks : 40

Note: Attempt Five questions in all. Q. No. 1 is compulsory.
Attempt four more questions, selecting two questions
from each Unit. All questions carry equal marks.

T U v B 3w A | W1 Wew 1 s
3 AR ORI —
R LR R .

1. () Draw the structures of the H.o:oﬁam D Txd=4

(i) .rmoﬂomo
(i) Lysine
(iii) Phosphatidyl serine

- (iv) Uracil.
ffafan 1 g sifsT .
(i) e
() e
(iii) ProFfeema fafe
(iv) iea

L-1808 4 150 (2-04/5) 1-1808 P.T.O.



®)

2. (a)

(b)

3 (a)

(b)

L-1808

Define the following : 1x4=4
(i) * Prosphetic group (ii) Jodine number °
(iii) * Hypervitaminosis (iv) pH optima
frafafas =t wfoam Gt .

) T wE ) omife wen

(i) fFafm sfwwar (v) A st

Unit 1 (33 1)

Differentiate between starch and cellulose. 4

= ok degew § sim we i )

Define reducing sugar. Give names and draw
structures of one reducing and one non-reducing
sugar, ‘

4
§.§ﬂ§§~ﬁ§.

W T TR VT W oW w v
gifeT .

What are the forces involved in three dimensional
structure of proteins ? 4
WM #t Fow G B i Ivert fifvs st
F I HIY | .

Enlist various functions performed by proteins in-

biological system, - 4

Wiew & fafis Sfew w1l @ T Ty

Explain the process of emulsification of lipids in
small intestine. 4

%%mﬁ%ﬂ%ﬂn@aﬁ%_
2

.‘ (b) What are essential fatty acids ? Give names and

structures of any mwo, . ( 4
ﬁmﬁﬂmﬁﬁgﬂﬁ,wwi&&ﬁﬁ
[ fse ,

. (@) Differentiate between nucleosides and nucleotides.

Give examples and draw structures. 4

AfFRIEES SR SR w1 R W FiR |
ST S ITH WET A

(b) Discuss the structural features of B-DNA. 4
-SEN F TEATF B 5 g HIT 4

Unit IT (3%7E I1)

Discuss structure, functions and deficiency symptoms of
Vitamin D and Vitamin E. -8
forrfirt ' o faeife ¢ ww, W ok w @
T F AN HifA

Discuss the biological functions and deficiency symptoms

of Iron and Iodine. 8

%mﬂﬁﬁgﬂwmﬂﬂ&%ﬂ&%mﬁﬂ
e SNy |

Discuss various factors affecting enezyme activity. 8
gﬂﬂﬂﬁﬂﬁuﬁﬁdiiﬂiﬂﬁﬁ
IV |

(2-04/6) 1.-1808 3 P.T.O.



{vil) Had he already abondoned writing ?
(viil) Whom did he punish ?

Unit IV
8. Write a detailed note on vowels.

9. Transcribe the following words :

(i) Call

(i)  Pull

(i11) Between

(iv) Boy

{(v) Coin

(vi) Monkey

(vil) Also

(viii) Clerk.

L-26094 4

150

) 200 10 T T Total Pages : (04
BSIT/M-22 26094
COMMUNICATION SKILLS (ENGLISH-II)
BSIT-201
Time : Three Hours] [Maximum Marks : 40

Note : Attempt Five questions in all. Q. No. 1 is compulsory.
The remaining four questions are to be attempted by
selecting one question from each Unit. All questions
carry equal marks.

(Compulsory Question)
1. Write short notes on the following : 4x2=8
(a) Importance of a business letter
(b) Aim of letter of reference

(c) Difference between Active voice and Passive voice
(d) Intonation.

Unit I
2. What is a Business Letter ? Define its objectives. 8
3. Describe the basic framework of a business letter. 8
Unit II

4. You are interested in the purchase of plastic goods. Write
a letter to a wholesaler asking him to quote prices and
supply samples. | 8

(5-24/11)1.-26094 P.T.O.



5.

Write a precis of the following passage and also assign it
a suitable title : 8

Young people should be led to realize that it is a very
serious matter to have a child, and that it should not be
undertaken unless the child has a reasonable prospect of
health and happiness. The traditional view was that, within
marriage, it is always justifiable to have children, even if
they come so fast that the mother’s health is ruined, even
if the children are diseased or insane, even if there is no
prospect of their having enough to eat. This view is now
only maintained by heartless dogmatists, who think that
everything disgraceful to humanity rebounds to the glory
of God. People who care for children, or do not enjoy
inflicting misery upon the helpless, rebel against the
ruthless dogmas which justify this cruelty. A care for the
rights and importance of children, with all that is implied,
should be an essential part of moral education. Girls
should be taught to expect that one day they are likely to
be mothers and they should acquire some rudiments of
the knowledge that may be useful to them in that capacity.
Of course, both boys and girls ought to learn something
of physiology and something of hygiene. It should be
made clear that no one can be a good parent without
parental affection, but that even with parental affection a
great deal of knowiedge is required as well. Instinct
without knowledge is as inadequate in dealing with

L-26094 2

children as knowledge without instinct. The more the
necessity of knowledge is understood, the more intelligent
women will feel attracted to motherhood. At present,
many highly educated women despise it, thinking that it
does not give scope for the exercise of their intellectual
faculties; this is a great misfortune, since they are capable
of being the best mothers, if their thoughts were turned

in that direction.

Unit III
Fill in the blanks with correct form of verb : 8
(1)  He...............cricket before Ram wokes up. (play)
(i) He............... physics for two hours. (study)
(iii) ..........Ram.........Ravana in Ramayana ? {kill)
(V) v the sun............... in the cast ? (rise)
(v) Two and two............four. {make)
(vi) He..oooeu.e. % + (o] SRS vet. , (sleep)
(vii} He................ whenever he is in tension.  (smoke)
(viil) Ram..............lunch when I reached. (take)
Change the voice : 8

(i) He does not like mangoes.

(i) Have you written the letters ?
(ili) What do you want ?

(iv) He will play cricket tomorrow.
(v)  Why did he hit you ?

(vi) Has Ram been cheated by you ?

(5-24/12)] 26094 3 P.T.O.



=X~ with iniual
dx

Los method to solve

crttion v(0)=1 from » = 0.20 w v = 030

A

Unit IV

silies of iy} for x = 6. 1. 2.6 are given

=
—
o
Wl

4 3 6
K 4 10 16 20 24 38

wie the value of £(3.2) using only four of the
4

tising Newton's divided difference formula find

“ivlous @ polynomial in powers of {x-6)

“resiues of the funetion £(x) for values of x are
cvenas fl)=4, £(2)=5. f£(7)=5, F(8)=4.
o ahe value of 7(6) and also the value of x for
shieh s {x) s maximun: or minimum. 4

s Chebysev Polynomial 1, (x) obtain the least
wiuere approximation  of  second  degree for

. :».,.., ~-3v+3 on —Iﬁ. L, 4

4 150

RoOII NO. cccvrrrirererrcrvcnen. Total Pages : 04

BSIT/M-22 26095
MATHEMATICAL FOUNDATION FOR
INFORMATION TECHNOLOGY-II
BSIT-202

Time : Three Hours] [Maximum Marks : 40

Note : Attempt Five questions in all, selecting one question
from each Unit. Q. No. 1 is compulsory. All questions
carry equal marks.

(Compulsory Question)
1. (a) Show that one of the roots of the equation lie in
the "intervals indicated against the equation
x% =cosx. (0, 1). 2
(b}  Define order of convergence of an Iterative Process.
2

{¢) Define Runge-Kutta fourth order method to find an

approximate value of y, when x=0.2, given that

@IUZI dy =1, wh =( 2
e Y and y = 1, when x = 0.

(d) Find the third divided difference with arguments 2,
4,9, 10 of the function f(x)=x*-2x. 2

(5-24/16)L-26095 P.T.O.



(b)

(b)

(b)

[.-26095

Unit 1

Find real positive root of the equation 2 _37=0
by bisection method correct to three places of

decimal. 4

Find a real root of the equation xt-x=10=0

using Secant method. 4

Find the real root of the equation ¥ =9x+1=0 by
Regula-Falsi method correct to three places of
decimal. 4
Find the order of convergence of Newton-Raphson

forumula. 4

Unit I

Apply Gauss Elimination method to solve the-

equations
2x +4xy+x3=3
3x;+2xp = 2x3=-2
X —X3+x3=0. 4

Apply Triangularization method to solve the

equations
Ix+y+2z=18
2x+3y+z=9
x+4y+3z=7. 4
2

5. (a) Solve the following equations b

method

PR

I 1 1
M,Qsz..qm..TNauED
1 1 1

— XA =X =Xy = ()
3 1 4 2 5 3

(b) (i) Define Pivoting and its typus
(ii) Explain Ill-conditioned cquations
Unit 1

1 e

6. (a) Solve the following cquations v
method
Sdx+ v+ =110
w.«;.rwm\d._.‘_, 6z=72

—-x+6v+272 =83,
(b}  Using Euler’s method solve the cquation

with the condition y(0)=1 and tahing &

find (0.04).

7. (a} Using Runge-Kutta method lind .

dy _ -
cdx ov+xd

the  equation R

h =072

(5-2HI17)-26095 3



(b)

9. (a)

(b)

1-26097

Unit IV

What is a Schottkey TTL logic ? Explain the
working of Schottkey TTL logic with the help of
circult diagram. How is it different from TTL logic
and what is its merit over simple TTL logic 7 5
Detfine V; and V; with the help of voltage level

diagram for a logic family. 3

What 1s NMOS logic ? Explain the working NAND
gate and NOR gate NMOS logic with the help of
circuit diagrams. Compare NMOS logic and CMOS
logte families ? 4
Detine the following terms for a logic family :

(1)  Fan-out

(i)  Figure of Merit

(1ii) Power Dissipation

(iv) Propagation Delay. 4

4 150

Roll No. ccurererrreriererenas Total Pages : 04
BSIT/M-22 26097
ELECTRONICS
BSIT-204
Digital Electronics-I
Time : Three Hours] [Maximum Marks : 40

Note : Attempt Five questions in all, selecting at least one
question from each Unit, Q. No. 1 is compulsory. All
questions carry equal marks.

1. "(a) Represent 12 and —12 in binary number system.
(b) What is an Exclusive-NOR gate ? Make its truth
table. )
(c) Why CMOS family is preferred over TTL logic
family ?
(d) Can we increase the number of inputs to a logic

gate upto any number ? Justify. 2x4=8

Unit I

2. (a) Determine the values of P, Q, R and § :
@®  (110001), = (P),,
)  (1110.101), = (Q)y,

(2-29/3) 1-26097 P.T.O.



(b)
3. (a)
(b)
(c)
4. (a)

L-26097

(iii) (265);, = (R),
(iv) (96.25), = (S), 4
Convert the following decimal numbers into OCTAL

systtm numbers and then from OCTAL system:

number into binary system numbers 4
G 175
(1) 349,

Convert the following binary numbers into OCTAL
system numbers and then from OCTAL system
number into decimal system numbers : 4
() 11010100

(i) 01001011.010001.

Convert the following decimal numbers into BCD
codes : 2
i 716

(i) 3327.67

What do you understand by weighted and non-
weighted codes ? Give one example of each. 2

"Unit I

Design a NOT gate (inverter) using transistor. Make
its equivalent symbol and explain its working with
the help of its truth table, 4

2

(b)

(b)

(b)

(b)

Prove the following Boolean Identities - 4
(1) A+ BC = (A + B)(A + ()

(i) AB +A'C + BC = AB + A'C

Note : A’ represents complement of A,

What is K-map ? Minimize the given Boolean
expression using K-Map and implement  the
minimized function using NAND gates only : 6
F(A, B, C, D) = 5(0, 1, 2, 4. 5. 8, 12) + (6, 13)
Design AND gate and an INVERTER using NOR
gate, 2

Unit 11X

What is a DTL logic ? Explain the working of DTL
logic with the help of circuit diagram. What are its
merits and demerits ? 5
Define V; and Vi, with the help of voltage level

diagram for a logic family. 3

What is a DCTL logic ? Explain the working of
DCTL logic with the help of circuit diagram. What
are its merits and demerits ? 5
What are Saturated and Non-Saturated logic
families ? Explain in breif detail with examples and

-

their respective advantages and disadvantages. 3

(2-29/4) 1.-26097 3 P.T.O.



Roll No. wvrccrieressrmnsense Total Pages : 03

ELECTRONIC COMMUNICATION-II
BSIT-205
Time : Three Hours] [Maximum Marks ; 40
Note : Attempt Five questions in all, selecting one question
from each Unit. Q. No. 1 is compulsory. All questions
carry equal marks.
Compulsory Question
1. (@) Define digital modulation. . 2
(b) Define :&Edmnm distance and calculate its values
for codes 11110 and 11001. -2
(c) What is Syndrome in binary cyclic code ? 2
(d) Define channel capacity. 2
Unit I
2. (a) Define FSK modulation technique and discuss its
generation, 4
(b) Describe the coherent detection of binary PSK

BSIT/M-22 - 26098

signal. 4

(2-30/9) L-26098 P.T.O.



3. (a)

(b)

(b)

What is QPSK ? Ummozm..m the operation of QPSK
transmitter. . | 4
Discuss the BanmmozﬁvBommm of differential wwm.mm
shift keying, 4

Unit I1

Discuss linear block codes, How are these codes
generated ? 4
Consider a (6, 3) linear block code whose generator

matrix is : 4

G=

LT - R
(==l
o o

0 1
1 0
11

[emw TR N

Find all the code <.88Hm of this code.

5. Design a linear block code with a minimum distance of
three and message block of eight bits, 8

Unit ITI

6. (a) A (15, 5) linear cyclic code has generator polynomial

L-26098

w@au:ktnw+Hg+xm+am+as. Find the code

polynomial for the message polynoinial D(x) = 1 +

x2 + x* in a systematic form, 4

(b)

(a)

(b)

(a)

(b)

(a)

(b)

Design an encoder for the 7, 4 Esw@ cyclic code

generated by g(x)=1+x+x> and verify its
operation using message vector (1101). 4.

How the syndrome calculation and error detection
is performed in binary cyclic codes. - 4
A (15, 5) linear cyclic code has generator polynomial
g =l+x+x? x4 x5 4 80100 Draw the
block code diagram of an encoder and syndrome
calculator for this code. 4

Unit IV

Apply the Huffmann coding method to the following
message ensemble and determine the average length
of encoded message. .

[X] =X, X, X; X, X Xe X,
[P1=104 02 012 008 008 -0.08  0.04]
Take M = 2, 8

Find the source entropy and information rate of a
source that emits one of the three symbols A, B
and'C in a statistically independent sequences with
probabilities 1/2. 1/4 and 1/4 respectively. 4
Discuss the Information content of a message in
detail. 4

(2-30/10)1~26098 3 150



Roll No. ..., Total Pages : 02

BSIT/M-22 26099
PROGRAMMING TECHNIQUES
BSIT-206
Time : Three Hours) [Maximum Marks : 40
Note : Attempt Five questions in all. selecting one question

from each Unit. Q. No. 1 is compulsory. All questions
carry equal marks.
1. (a) What are symbols used in Flowcharts 2
(b)  Write advantages of Pseudocode.
(¢) What is the difference between Move and Copy
command in Excel ?
(d) Name four types of Charts used in Excel. 8
Unit 1
2. (a) Define Flowchart and write Rules of F lowcharting.
(b)  Write advantages and limitations of Flowcharts. §
3. (a) Define Decision Table and make a Decision table
for OR Gate,
(b)  What is Programm Planning. its meaning and use ?

8

{3-25/5) L-26099 P.T.0.



Roll No. ... Total Pages : 3

- GSM/M-22 1612
SEQUENCE AND SERIES
Paper—-BM-211
Time Allowed : 3 Hours] [Maximum Marks : 40

Note : Attempt five questions in all. selecting one question

from cach Unit. Question No. 1 is compulsory. Alj
questions carry equal marks.

Compulsory Question

. (a) Define limit point of a set and give an example of a set
which has three limit points?

(b) Give an exampic of a sequence which is bounded but
not convergent.

(¢) Discuss the convergence of the series -
E . M
. M _ sin—.
= H.H

(d) Test the absolute convergence of the infinite series :

x o1
MSHQAJHV: | T NXA.HW

:-
UNIT-I

2. {a) Define open set. Prove that arbitrary union of open sets
p ) P
1S an open set. 4

1612/K/1048/3,700 P.T.O.



(b) Prove that the set of rationals is not order complete. 4
3. (a) Define closure of a set. Prove that closure of a set is
a closed set. 4
(b} Show that a set having finite number of elements is
compact. 4
UNIT-H
4. (a) State and prove Cauchy’s first theorem on limits. 4
(b) Discuss the convergence of the sequence <a_> where
11 1
a, =l+=+— 1. +—. 4
_ 2 3 4 n :
5. (a) Discuss the convergence of the series :
> ~ X x>0 g4
xt+a”
(b) Discuss the convergence of the series : 4
NEEER
1.2 34 56 7
UNIT-III
6. (a) State and prove Raabe’s test for the convergence of an
infinite series. 4
(b) Test the convergence of infinite series : 4
- . (nl)’
M (n) x",x>0.
"=l 2n!
1612/K/1048/3,700 2

(a)

(b)

(a)

(b}

(a)

(b)

State and prove Cauchy Condensation test for the

convergence of an infinite series. 4
Test the convergence of MSLIH!. 4
" (logn)”
UNIT-1V
Discuss the absolute convergence of the series :
M”ummC/\II:?oM nx )’ , X Is real, 4

Discuss the convergence and absolute convergence of:

" IH n+l
PR

cosec — 4
n
e COSNX .
Test the convergence of MBH_F:HUI% > 0. 4
Test the convergence of infinite product I, n- HJ ]
BE
4

1612/K/1048/3,700 . 3



differential equati qu_ O
1Tferentia ODCN 10N mwdn @%w

with the boundary

condition.

() u=u,whenx=0.1>0 and the initial condition.

(i) u=0whent=0.x>0. 4
du_ &'u
(b) Solve Mn FVE given that :

MHu0,0=0  (@(Du@m =0 (i) ux 0)=2x

when 0 <x<mt>0, 4

1613/K/1649/3,700 4

Roll No. v, Total Pages : 4

GSM/M-22 1613

SPECIAL FUNCTIONS AND INTEGRAL
TRANSFORMS
Paper—BM-242

Time Allowed : 3 Hours] [Maximum Marks : 40

Note

Attempt five questions in all, selecting ene question

from each Unit. Question No. 1 is compulsory. All
questions carry equal marks.

Compulsory Question

1 ,
I. (& Provethat ]’ (x) = 5[1(x)=J(x)].
1
(b) Show that : Tu: (x)dx=2ifn=0. .
-1
{¢) Find the hmv_mom Transform of cosh at sin at.
(d) Find the Fourier transform of f{x) = ¢ 3,
where a > 0 and x € (—ec, ). 2x4=§
UNIT-H
2
2. (a} Solve d M |xa|%nm; where y(0) = 2 and
dx dx
v'(0) = -3, 4
1613/K/1649/3,700 P.T.O.



(b

Show that J (x) = (-1)" J(x) where n is any

integer. 4
. . dy dy 1
3. (a) Find the solution of xrlw+lv+l.< =0 in terms of
. dx= dx 4
Bessel's function. 4
2
{b) Verity that the Bessel’s function ,_1_ (x})= o COsX
satisfies the Bessel's equation of order JW . 4
UNIT-II
1
4. (a) Show that (I-2xt+1t) =% t"P (x). x'<Lt<]
n-0
where P _(x) is Legendre’s function of order n. 4
{(b) Prove that:
Foane 2
?.‘mﬂ?vmx = H. + + : 4
’ 8(2n~1) 4(2n-+1) 8(2n+3)
5. {a) Show that H (x)=2" 4
(b) Prove that
._. x'e Y [H, (0] dx =7 2'nll n +W : 4
1613/K/1649/3.700 2

6. (a)

(b)

(b)

9. (a)

1613/K/1649/3,700 3

UNIT-IH
Cvaluate ._.ﬁ e 'sin’ tdt. 4
It
Find 1" Tomiﬁrr 4

L r?\:u._.

I
L +a) )
4

Using convolution theorem evaluate

Solve the equation by transform method :

Lty e where (O =y = 1. 4

UNIT-TV

Find the Fourier transform of f{x)

ool
—. X|[S€
Hix)y=42¢ . 4

0. x|re

Using Parseval’s identity. Prove ;

Toodx T
oo =1 4
AXT+D) 4

Using the Fourier sine transform, solve the partial

P.T.0.
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GSM/M-22 1614

PROGRAMMING IN C AND
NUMERICAL METHODS
Paper—-BM-243
Time Allowed : 3 Hours] [Maximum Marks : 30

Note : Attempt five questions in all, selecting one question
from each Unit. Question No. 1 is compulsory. All
questions carry equal marks.

Compulsory Question
1. (a) Whatis a bit and byte?
(b) Define character constants.
(c) What is an escpae sequence?
{(d) Define one-dimensional array.
(e) Write down the flow chart of the else-if ladder.
(f) Define Descarte’s rule of signs. - Ix6=6
UNIT-

12

{a) Draw a flowchart to find roots of a quadratic egquation,

J
2>

(b) Define variable in C and also discuss rules for defining

~

a variable in C. 3

1614/K/1049/3,700 P.T. O.
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-

[
—

juk]
—

(b)

7. {a)

(b)

What do vou.mean by data types? What are various
data types in C language? Ilustrate their declaration

and usage? 3

What are operators? Chart various tvpes of operators
offered by C language and iHustrate precedence of these

operatrs. 3

UNIT-H

(S

What is a nested 1f statement?
Differentiate between break and continue statement. 3

Write a program to check whether a number is prime

Or not. 3

Pyl

Distinguish between local and global variables.

UNIT-111

L

How is a string stored in an array in C7

g

What is o structure tag and what 1s its purpose? -

Show that the order of convergence of Regula-lalsi
method is 1.618. 3

1 N
Prove the recurrence formula, X, =—| 2%, ~— | for

WY
tinding cube root of N. Hence find the cube root of 5,

correct to three places of decimal. 3

1614/K/1049/3,700 2

UNIT-1V

Solve the following equations by Gauss-Seidel method :

S5x+y+2z2=19

X +4y -2z =-2
2x + 3y + 8z = 39

Solve the following equations by Crout’s method :
SXx + 2y +z=-12
-x + 4y + 2z =20

2x — 3y + 10z =3

e

1614/K/1049/3,700 3
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GSM/M-22 1620

WAVE AND OPTICS-II

Paper—VIII
Time Allowed : 3 Hours] [Maximum Marks : 40
Note : Attempt five questions in all, selecting one question
from each Unit. Question No. 1 is compulsorv. All
questions carry equal marks. Use of scientific (non-
programmable) calculator is allowed.
Compulsory Question
1. (a) Define fourier cosine series.
(b) Explain the term optical rotation and optically active
substances.
(¢) What is spherical aberration? ,
(d) What are unit planes and nodal planes? 274=8
UNIT-1
2. (a) State and explain the law of Malus.” 3
(b) State the theory of a nicol prism to obtain plane polarised
light, Explain how nicol prism can be used as polariser
and analyser. 5
3. (a) Explain the term optical mo:<.:.<. Show how Fresnel

theory explain the optical rotation. 4

1620/K/1053/3,650 , P.T.O.



(b) Define specific rotation. Explain the construction and
working of Laurent’s half shade polarimeter. 4
UNIT-II
4. (a) State and prove fourier integral theorem. 6
(b) Define complex form of fourier series. .2
5. (a) Apply the fourier theorem to analyse a triangular wave .
in to its simple harmonic components. 4
(b) State fourier theorem and determine the value of fourier
co-efficients. 4
UNIT-III
6. (a) Derive the convolution theorem for fourier transform.
4
{b) Find the fourier transform of f(x) = e ¥ 4
7. {(a) Find the system matrix for a thin lens and derive thin
lens formula. 5
{b) Show that refraction through a special surface can be
: . 1 -P
characterised by a (2x2) matrix R = o 1) 3
UNIT-1IV
8. (a) Whatis chromatic aberration. Show that for chromatic
aberration, two thin co-axial lens of same material can
#  ibe placed at a distance equal to mean of their focal
length. 5
1620/K/1053/3,650 2

(b) Calculate the focal length of a lens of dispersive power

(@)

(b) What are two types of losses in optical fiber?

0.031 which should be placed in contact with a lens of
focal length 0.88m and dispersive power 0.022 to make
the combination a chromatic. 3

What is an optical fiber? Define and explain the terms.
(1) Acceptance angle.

(1) Acceptance cone.

() Numerical aperture.

(1v) Relative refractive index difference. 5

()

1620/K/1053/3,650 3
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GSM/M-22 1621

INORGANIC CHEMISTRY
Paper-XI-CH-204
Time Allowed : 3 Hours] . [Maximum Marks : 32

Note : Attempt five questions in all, selecting two questions
from each Unit. Question No. 1 is compulsory. Use of
calculator and log table is allowed,

Compulsory Question
1. (a) Why is Eu(Il} more stable than Ce (I1y? 2

(b} What are transuranic elements? Give synthesis reaction
of curtum (z = 96) from plutonium (z = 94). 2

(c) Why does lead appear in group I as well as in group .
IT of qualitative analysis? 2

(d) How will you detect the presence of Ne2" ion in the
solution? 2

UNIT-I
2. (a) Discuss the mo:mEM:m properties of lanthanides :
(i) Tendency to form complexes. 2
(i) Double salt formation. 2

(b) What happens when cerium (I11) nitrate is treaied with
alkaline KMNO,? 2

3. (a) Why is chemistry of all lanthanides idemtical? 2

1621/K/1054/3,350 P.T.O.



(b) Cerium ({IV) sulphate is used in redox reactions . Explam
why? 2
(c) Explain which is more basic and why Gd,0; or YbO?
2
4. (a) What is Actinoid contraction? How do vou account
for it? 3
{b) The electronic configurations and positions of most of
actinides are controversial why? Justify your answer by
giving suitable examples. 3
5. (a) Heavier actinides do not form oxocations. Explain. 2
(b) Why are the ions of actinides coloured? 2
(c) La’tis diamagnetic while Sm?" is paramagnetic, why?
2
UNIT-1I

6. Discuss chemistry of following tests :
(a) Nessler’s reagent test for NH, . 2
(b) Silver nitrate test for thiosulphate. 2
(¢) Sodium nitroprusside test for $> 2
7. (a) Give reasons why group IV radicals are precipitated by
passing H,S gas in the presence of NH,OH. 3
(b How is NO, confirmed in the presence of Br? 3
8. (a) Whatis effect of pH, temperature and solvent upon the

solubility of a precipitate? 3

1621/K/1054/3,350 2
.

(b) How will you detect presence of wouwx ion in a mixture?
3
9. What happens when
(a) Ammonium molybdata is added to sodium phosphate
solution containing conc. HNO;? 2
(b) Sodium iodide is heated with Mno, and conc. H,50,?
2
(c) Sodium cobaltinitrite reacts with aqueous solution of
KC1? 2
Also give chemical reactions involved.
1621/K/1054/3,350 3
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GSM/M-22 1623
ORGANIC CHEMISTRY (THEORY)

Paper—XII1-CH-206

Time Allowed : 3 Hours] [Maximum Marks ; 32

Note : Attempt five questions in all, selecting two questions
from each Unit. Question No. 1 is compulsory.

Compulsory Question
1. Attempt any eight of the following : &x1=8
(2) Write the source of IR radiations in IR spectroscopy.

(b) Write expression for reduced mass used in Hooke’s
Law,

(c) What is the type of hybridization of Nitrogen atom in
amines?

(d) Among primary, secondary and tertiary amines the
substituted ammonium ion of which is most solvated.

{¢) Wrnite equation of conversion of benzene diazonium chloride
into iodobenzene.

() What happens if the temperature rises above 283K in
diazotization reaction of primary aromatic amines?

(2) Give advantages of oxidation of alcohols into aldehydes
using special oxidizing agents.

1623/K/1056/3,350 P.T.O.



(h)
®

2. (a
(b)
(c)

3. ()
(b)

(©)

4. (a)

(b)

(c)

5. (a)

(b)

(©)

S——————

What is haloform reaction?
Prepare CH,COCH, using CH,COCL
UNIT-I
What are mm.mﬁ.ormum vibrations? Give their types.
Explain principle of IR spectroscopy.

What are the factors upon which vibrational frequency
depends? 3x2=6

Explain two important applications of IR spectroscopy.

Calculate the number of fundamental absorption bands
in H,O molecule.

What is vibrational coupling in IR spectroscopy?

How will you prepare pri. amine by Hofimann bromamide
reaction?

How will you distinguish Pri., Sec. and Tert. amines by
Hinsberg’s method.

Aliphatic amines are more basic than aromatic amines,
explain. 3x2=6
Convert Aniline into Sulphanilic acid. Write its zwitter

10n structure.

Write reaction of tert. aliphatic and aromatic amines
with nitrous acid.

Prepare pri. amine by reductive amination of aldehydes
and ketones, 3x2=6

1623/K/1056/3,350 2

UNIT-I1

6. (a) Wrte Blomstrand {ormula of benzene diazonium chloride.
Give evidences in Javour of this formula.
(by Using benzene diazonium chloride prepare :
(1) Nitrobenzene  (ii) Phenol.
i¢) What s Gattermann reaction? 3»2=6
7. (a) Convert Nitrobenzene into m-nitrophenol.
(b) Name the compound obtained by reduction of benzene
diazonium chloride. Give reactions also.
(c) What is Rosenmund’s reduction? 3%2=6
8. {#) Write short note Meerwein-Pondrof-Verley (MPV)
reduction.
(by What is aldol condensation? Write mechanism also.
{c) Explain structure of carbonyl group. 3x2=6
9. (a) Write short note on Fehling or Benedict solution test for
. aldehydes.
(by Convert OIWOEO into its :
(1) hvdrazone  (ii) semicarbazide.
(¢c) Write equation to convert acetone into methyl acetate
by Baeyer-Villiger oxidation. 3Ix2=6
1623/K/1056/3,350 3
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GSM/M-22 1626

BIOLOGY AND DIVERSITY OF SEED

PLANTS-II
Paper-1
Time Allowed : 3 Hours] ?5&5:.5 Marks : 40

Note : Attempt five questions in all. sclecting two questions

from cach Unit. Question No. 1 is compulsory. All
questions carry equal marks.

Compulsory Question
1. Explain the following 1x8=8
(a) Actinomorphic flowers.
(by Effective publications.
(¢y Catkin inflorescenc
(d) Gynoecium in Euphorbiaceae.
(e} Taxonomy.
() Tlypogynous.
(g) Neotype.
(hy Phvlogenetic system of classification.
UNIT-I
2. Deseribe the role of taximetrics in relation to taxonomy. 8

1626/K/1059/1,450 P. T.O.



3. What do you mean by identification keys? Give an outline of
various types of access keys used for the identification of

plants. 8
4. What do you mean by racemose inflorescence? Describe its
type by giving suitable diagram and examples. 8
5. Write brief notes on the following : 4x2=8

(a) Type concept.
(b) Principles of priority.
UNIT-II

6. Give an outline of Engler and Prant] system of classification
and also mention its merits and demerits. 8

7. Write the distinguishing features and economic importance of
the following families : 4x2=8

(a) Rutaceae,
(b) Asteraceae.
8. Comment on the following : _ 2x4=8
(a) Androecium in Asclepiadaceae.
(b)  Androecium in Malvaceae.
(c) Gynoecium in Apiaceae.
(d) Gynoecium in Ranunculaceae,

9. Write the diagnostic characteristics and economic importance
of the following families 4x2=8

(a) DBrassicaceae.

(b) Solanaceae.

1626/K/1059/1,450 2
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GSM/M-22 1627
PLANT EMBRYOLOGY
Paper-II
Time Allowed : 3 Hours] [Maximum Marks : 40

Note : Attempt five questions in all, selecting two questions
from each Unit. Question No. 1 is compulsory. All
questions carry equal marks.

Compulsory Question
I.  Write short answers of the following : 8
(a8) Name two essential whorls of the flower.
(b) What is the function of tapetum?
(¢) Define palynology.
(d) What is Xenogamy?
(e) What is ventral suture.
(f) Define siphonogamy.
(g} What is funiculus.
(h) What is hesperidium.
UNIT-I
2. Comment and justify that “a flower is modified shoot. 8

1627/K/1702/1,450 P.T.O.
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3. Write note on structure of an anther. 8
4. Write notes on the following : 8
(a) Compound anther.

(b) Microsporogenesis.

th

Write note on Entomophily. &
UNIT-1I

6. With suitable illustration explain the structure of various types
of ovule found in Angiosperms. 8

7.  Write and explain in brief the types of endosperms of

angiospermnis. : 8
8. With suitable diagrams explain polyembryology. 8

9, What is fruit? Define it and describe the vartous types of dry
fruits m vour syllabus. 8

1627/K/1702/1,450 2
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GSM/M-22 1628

LIFE AND DIVERSITY OF CHORDATES-II

Paper-I
Time Allowed : 3 Hours| [Maximum Marks : 40
Note : . Attempt five questions in all. sclecting two questions
from each Unit. Question No. 1 1s compulsory. Support
vour answer with neat and labelled diagrams wherever
necessary.
Compulsory Question
1. mx_u_mﬂ the following in about 20 words each : 1x10=10
(a) Amplexusory Pad.
(b) Conus Papillaris.
(¢) Vibrissae.
(d)y Gizzard.
() Organ of Cort1.
() Jacobson’s organs.
(g) Preen gland.
{h) Pons varolli.
(i) Reflex Action.
(j)  Therapsids.

1628/K/1060/1.450 _ P.T.O.



UNIT-I

Describe the internal structure of heart of Frog. - 7%
(a) Describe poison apparatus of poisonous snakes. 4

(b) Write a note on Buccopharyngeal respiration of Frog.

3%
Describe in detail the digestive system of Hemidactylus.

7
(a) Describe evolutionary tree of ﬁ,mﬁm_mm. 3

(b) Draw well labelled diagram of V.S. Eye of Frog. 4%
UNIT-II

Give a detailed account of respiratory system of Rat. 7'

Write notes on the following :

(a) Quill feathers in Pigeon. 4%

(b) Dentition in mammals. 3

(a) Give a brief account of female reproductive system of
Rat. 5

b) Write a note on Syrinx of Pigeon. 214
(&) y g

What are volant adaptations? Enumerate morphological,
anatomical and physiological adaptations of flight in Birds.
T

1628/K/1060/1,450 2
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GSM/M-22 1629
MAMMALIAN PHYSIOLOGY
Paper-1I
Time Allowed : 3 Hours] ._ [Maximum Marks : 40

Note : Attempt five questions in all, selecting two questions
from each Unit. Question No. 1 is compulsory. Support
your answer with neat and labelled diagrams wherever
necessary.

Compulsory Question

1. Explain the following in about 20 words each :  1%x10=15

(a) Electrocardiogram.

(b) Erythropoiesis.

{c) Tidal Volume.

(d) Bohr’s effect.

(e) Nephron.

()  Ammonotelism.

(2) Synaptic fatigue.

(h) Saltatory conduction.

(i)  Adrenal virilism.

()  Spermiogenesis.

1629/K/1061/1,450 . P.T.O.
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UNIT-I

What is cardiac cycle? Describe different phases of cardiac
cvele. Vi

(a) Explain transpost of respiratory gases in the blood.
34

(b} Differentiate between aerobic and anaerobic respiration.

-~

2

What is blood clotting? Describe the mechanism of blood
clotting. 6Ya

Write short notes on the following :

(a) Role of rennin-angiotensinogen system in osmoregulation.
3

(b) Micturition. 3
UNIT-II

What is nerve impulse? Explain origin and propagation of
nerve impulse along a non-medullated nerve fibre. 6Ys

Explain the functions and disorders of hormones of thyroid
gland. 64

What is menstrual cycle? Describe the different phases of
menstrual cvele. 6

Write short notes on the following :
(a) Structure of human sperm. Vi

(by Hormones of Hypothalamus. 3

1629/K/1061/1,450 2
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| GSM/M-22 1632
OSCILLATORS AND MULTIVIBRATORS
Paper—[
Time Allowed : 3 Hours] [Maximum Marks L_"o

Note : Attempt five questions in all, selecting one question

from each Unit. Question No 1 is compulsory. All
questions carry equal marks.

Compulsory Question

1. (a) What are different feedback topologies? Make the
diagram for voltage series feedback topology.

(b} Define the power efficiency of power amplifier. Does
really a power amplifier amplifies the AC power?

(¢) What is Barkhausen criterion?

(d) Calculate the duty cycle for the given waveform
2x4=8

*+2lsp

-+ s #

t—»

UNIT-I

!\.)

(@)  What should be the value of R;and R  with respect to
Rq and R for a voltage amplifier. Justify it with the help
of equivalent circuit diagram. : 4

1632/K/2288/230 P. T.O.



{b) Drive an expression for the effect of negative feedback
on output impedance (R of voltage series feedback
topology. 4

5. (a) Whatshould be the value of R-and R | with respect to
Rgand R for a current amplitic.. Justits it with the help

of cquivalent circuit diagram. 4

(b) Drive an expression for the effect of nepative feedback
on output impedance (R,) of current shunt feedback
topology. 4

UNIT-IT

4. Explain the working of Push-Pull amplifier with the heip of
cireuit diagram, What are its merits over single ended power
amplifier? 8

5. {(a} Explain with the help of an expression that second

harmonics and other higher even harmonics are
disappeared in the output of Push-Pull amplifier, 6

(b) Power amplificr is alwavs preceded by a voltage
amplifier. Why? 2
UNIT-I11I

6. What is RC phase shifl oscillator? I:xplain its working and
derive an expression for its frequency with the help of circuit
diagram. 8

7. Whatis Hartlev oscillator? Explain its working and derive an
expression for its frequency with the help of circuit diagram.

8

1632/K/2288/25()

b

UNIT-IV

8. What is a multivibrator? Ixplain the working monastabie
multivibrator using transistor with the help of its cireuit diagram,
Write its atleast two applicotions. 8

9. (a) Explain. how 355 [C Timer is used as Astal

.

multivibrator. Draw its various waveforms. i

tb} - What is a SCR? Make its transistor equivalent diagram.
7

1632/K/2288/250 3
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GSM/M-22 1633
ADVANCE DIGITAL ELECTRONICS
Paper-]I
[Maximum Marks : 40

Attempt five questions in all, selecting one question
from each Unit. Question No. 1 is compulsory. All
questions carry equal marks.

Compulsory Question

Write short notes on the following: 4x2=8

(a)

(b}

(c)

(d)

(a)

(b}

A 5-bit resistive divider network has 10 volts full
scale output in a D/A Converter. Find the output
voltage for a binary input 10111,

Name the specification on which performance of a
A/D converter depends upon.

What are the size of MAR and MBR for a (16K x64)
hit memory
What are Destructive and Non-destructive read out in

)

MCmories
UNIT-X

Using the resistive network draw the circuit of a 4-bit
YA converter and explain its operation. What are the
drawbacks of this D/A converter ? 6

Explain basic principle of Switched Capacitor type
DAC. 2

1633/K/2471/250 P.T. O.
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(a)

LS )

1. (a)

{(b)

LA

(a)

(b)

(b)

What are the various performance characteristic and
their importance is selecting a D/A converter 2 6

Explain the working of the switched current source
tvpe DAC. n2

UNIT-II

Draw the circuit diagram of Successive Approximation
ADC and explain its working. 6

Name and explain the specification on  which
p
performance of a ADC depends. 2

Explain the working of Flash type ADC which
converts analog voltage to 3 bit digital ouiput. What

are the disadvantages of this type of ADC 2 3

A 16 bit counter-type ADC converter is driven by 400
KHz clock. Calculate the maximum conversion time,
the average conversion time and the maximum

-~

conversion rate. 3
UNIT-111

What is a Memory unit 7 Using Block diagram of a
memory syvstem. Describe the important parameters
related to memory unit. >

What is the difference between ROM and PROM ?
Describe programmable Read only memory (PROM)

~

using bipolar ROM celis. 3

What arc Random Access Memories (RAMs)?
Describe the relative merits and demerits of a dvnamic
RAM cell over static RAM. 6

1

Explain how RAM size 16%4 can be increased to
16x8. 2

1633/K/2471/250 2

UNIT-1V

(a) Explain Programmable Array Logic (PALs) with the
help logic circuit. Briefly explain EX-OR PALs. 6
(b) Explain how (PALs) are advantageous in comparison
with fixed function [Cs. 2
(a) ILxplain Field Programmable Gate Array (FPGA). List
various  available FPGA  in respect  of  their
architectures,  technologies  and  programming
techmques. O
(by List various features of PI.Ds. 2
1633/K/2471/250 3
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GSM/M-22 1634
OBJECT ORIENTED PROGRAMMING WITH C4+

PPaper--]
Tme Allowed - 3 Hours] fMaximum Marks : 40

Note : Attempt five questions in all, selecting one question
from each Unit. Question No. 1 is compulsory, All
questions carry cqual marks,

Compulsory Question
1. (&) Define this pointer.

(by  What is the purpose of static Data Member and static
member function?

(¢)  List the name of operators which cannot be overloaded,
(d) Explain the use of endl and setw function. 4x2=8

UNIT-I

2. Explain all the characteristics of object oriented programming
in detail by giving examples. 8

3. Explain following and give examples for each :

{a)  Member functions inside the class. 3
(b) Member functions outside the class. 3
(€) Nested classes. 2

1634/K/1064/1,650 =t P.T. O.



9.

UNIT-II

Define constructors and their purpose. Explain various types
of constructors in detail available in C++. 8

Define and give examples for :

(a)
(b)

(a)

Formatted 1/0. 4
Un-formatted 1/0. 4
UNIT-HI

What do you mean by dynamic memory management?
Explain various operators available in C++ for managin
memory.

T

e qr

Write a program which implements the concept of array
ot pointers to objects, 4

Befine friend class. How a friend class is created and
used? Explain with suitable programming example. 3

Write a friend function to print largest of two numbers.
3

UNIT-IV

Define polymorphism. What do you mean by static
polymorphism. 4

Write program for overloading area function to calculate
area of circle, square and triangle in C ++. 4

Deline and explain -

(a)
(b)

Inline tfunction. 4

Operator overloading. 4

1634/K/1064/1,650 2
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GSM/M-22 1636
WEB DESIGNING USING ADVANCED TOOLS
Paper—I[
Time Allowed : 3 Hours] [Maximum Marks : 40

Note : Attempt five questions in all, selecting one question
from each Unit. Question No. 1 is compulsory. All
questions carry equal marks.

) Compulsory Question

1. (a) Whatis CSS?
(b) What is the difference between static and dynamic HIML?
(¢) Why XML is used?
{d) What is a Flow object?

(¢) State whether JavaScript is a client-side language or
server-side language.

() How can you generate a random number in JavaScript?
(¢) What is an associative array in JavaScript?

{h}  Discuss the syntax and purpose of for each in loop in
JavaScript. 8x1=8

) UNIT-I

2. (a) How document linking and embedding of CSS is done

in HTML? Explain. 4

1636/K/1066/50 P.T. O.
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(b) What do you understand by style sheet? How can you
create such sheets? Explain with suitable examples. 4

Write short notes on the following w.r.t. CSS :

(a) Adding sounds

(b) Mouseovers. N
UNIT-H

tal - What is NXML? What are its major features” How it is

compatible with others? Discuss. 4
(b)  Explain structure of XML using suitable examples. 4

How can you work with (i} Text. (11) Font, (ii1) Color.
(iv) Background properties in XML? Explain using suitable

exampies. 8
UNIT-II
(a) Discuss the major features of Java Script. 4

(b} Describe various data type and variables using JavaScript.

4
M.._.xv_m:: the purposc of fvllowing functions in JavaSeript
{y substring O (i) CLr
Gil o sotimeout() vy parselnt)
Viooovalh) fviy o ocetny
(Vi (vulp o osetinterval( ). 8

1636/K/1066/50 2

UNIT-1V

8. Describe the various pre-defined objects in JavaScript with

the help of suitable examples. 8
9. Explain following in detail :

() Java Server Pages

iy Event Iandling in Java. 8
1636/K/1066/50 3
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GSM/M-22 1637
PROGRAMMING IN VISUAL BASIC

Paper-!1

Time Allowed : 3 Hours] [Maximum Marks : 40

Note : Attempt five questions in all, selecting one question

o)

from each Unit. Question No. 1 is compulsory. All
questions carry equal marks.

Compulsery Question
(@) Define the modes of VB application.
(b) Explain predefined dialog boxes.

(c) What is the function of command button controls in
VB?

(d) What is event handler? How is it related to subroutines?
2x4=8

UNIT-I

What do you mean by Event Driven programming? Explain
with examples. 8

Define visual basic IDE and also define its components. 8§
UNIT-II
Lxplain the various controls for I/O in VB. 8

Design an application, to display the working of calculator.
8

1637/K/1067/50 . P.T. O.



UNIT-111

6.  Explain various decision statements with their syntax and
give examples. 8

7. Explain collection with its methods and properties with the
help of examples. 8

UNIT=-1V

8. How many types of functions are jn VB? What are the built
in functions? Describe three each, mathematical, string and
date and time functions with syntax and examples. 8

9. Explain with an example use of optional argument and use of
naming argument in procedure. 8

1637/K/1067/50 2
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GSM/M-22 1650
HINDI (COMPULSORY)
Time Allowed : 3 Hours] [Maximum Marks : 40
ELCERE: i B R o Y
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. THEHR H diefas 9i=Eg e 6

3. fofefem § o fedl e fowg = fEw fafan 8
() uAfedfasr (@) T T

() AeRTIETE (7)) SAEEn farwe _

(T) Tavg-T9=ad m,,.m_ I % ECCOlc e
4, =m0 He Afaftd, feadt = = & 9,
e HEaEeE wErE W U sgan T faEst
ITF T TEEE TEEaEed o FdR T HAT e @
ar §oF W owHeE % an o oeEw wmau 9
CAOE 1}
AW T g% =X, WUEig Wi sewwe foaw W
AM . g HfEd wie)

s fw=i 16 Tl H oW TR €W v ow fe=l awAln]

E W%@m" 2
()  Infection (i) Inertia ()  Orbital

(iv) Meting point (v) Theorem (vi) Nutrition
(viiy Thermoscope (vili) Plasma (ix) Radiation
(x) Phyvsiology (xi) Projectile  (xu) Index

(xili} Nucleus (xiv) Relic (xv) Orbital

{xvi) Obtuse angle.

1650/K/1077/3,400 2
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GSM/M-T 2 1651
PUNJABI COMIPLESORY

lime Aliowed : 3 Hours! [Maximum Marks : 40

& A9 YRS 96 Tt Is|

J5 feu afe dfonr f&g & & yrar Afas fonpfunt

1.

9:
()

(1)

®)

(A)

2.0
H& J99 HIHI H3 38 Haba
aTH FBE IBA 9 38 it
O e TR Wiz uB 38 ushih
TH IH FAs RS a9 18 28 arah
g9 B € v Uz an
Jar 8vg fuzg o fom® 9
Wg Iy & & # 73 Het,
33 ya Uz g 9
g g9 fAarg g ufog § f,
YIE FF HIIST 999 wrfenr|
g % TR 1 1)
fsar du o W gwrw wile
?w,nmmmmmﬂnnwzi
uEt 52 gt WS W e
fRur Wg Adarel & A &l
A a3% 9% ¥9 9 Hbui
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GSM/M-22 1652
SANSKRIT (COMPULSORY)
Time Allowed : 3 Hours] [Maximum Marks : 40
e et wvq sAfgard €
1. T=fafad w0 = s <ifew; 4x72=8§

2.

(%) ‘TvE: wiE wEn a9l e e w9 0 g T
o fam mn 27 % w=laa s 9w fafe

(@) ‘Tistyeramfarad’ e fve ga wa 9 gwfo
g7 TWF O@F I §?

(M) ‘Fg ¥ oW s AW gl Te 3
e

(%) ‘"SI’ 9w A kR AHR e a8

frefefan veml A o 521 & el %1 wend fafem:

4x2=8

(F) THA ydkar  Furagias)
uTfs o9 wafa dramfs 9§ Fem

(@) yserfa I=1 wmrEaad oo
HARTAAHAT g TeaysER=d 1|

(1) =mAsHaE g=  foafgcegay)
AT 9 AR Y- G=T e |

1652/K/1911/1,450 P.T. O.
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4x2=8

(%) 9 amer FYIRE AW W " wel
MEfTEa THW: ) TR e g AR
R T e e ﬂﬂﬂﬁ.&ﬂ_

(@) =oh! WE-A&aadl W e HErgy WA
Fa:l TR WA A gEedawe®  TeTTHe
F1 sy miﬂﬂ@mﬂﬁmﬂa REICRTI I
AT A TH | FTeshE 2Tyt gertated
T

() sTgefafau= wiamde: ] 7 &9 w& faud:)
FANAY WoRaHe "R wiacfurey 950
TITE WU gwn T s A
TSI | _

(7)) o Ffefraadiee amgem) T st

EHHEA S g R- AT - ST - e g aiga-

T -4 - TR A it

.ﬁﬂ@@mm@%@@i%ﬁ%ﬂﬁ%.
Tl W vy fafaEm: . 42=8

(F) ] 4-7 oFr

(@) F-Te aFw

1652/K/1911/1,450 2
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(M) ] B-—F2 &K
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Yo AWrite short notes on the following -

1 Storage of vegetables ROIINO. cvvrrrvvriirrieieeens . Total Pages : 04

Radianon, GSM/M-22 H%O@

P Hhr feorf L APPLIED AND COMMUNITY NUTRITION
IS _

e Time : Three Hours] [Maximum Marks : 40

Note : Attempt Five questions in all, selecting at least one
question from each Unit. Q. No. 1 is compulsory. All
questions carry equal marks,

IOF THEE Y T FHCEH WA YT B, R uie
T S| AR 1w dew 1 sfad ¥ wsh
A ® oE §EW F |

Compulsory Queéstion
( 3tfrard wyT)
1. (1) Write short answers of the following :
(a) Odema

(b)  Difference between height and length

(¢} Freeze drying

(d) Name rwo chemical preservatives

frafafen & wfya s fafae .

(1) tfem

(7)) vai ¥ &g % #9 9w

(W) w9 gan

() T oAt ofows & 9\ g
(i) Fill in the blanks :

(¢) Formula for BMI = .............. .

P-1809 4 180 (6-05/6) 1.-1809 P.T.O.



(f}  Name the vegetable which is from microbial
OTigin ...cccveeven. .

(g) While pickling, food is preserved with the
help of iy ey e,

(hy .. veeeew 18 @ common adulterant found in
black pepper.

R=a ﬁﬁ# ﬁ_mf.m :

(3) SR & fag = o, |

(F) 3W Wl ®1 99 TR W AEHTaE go
T R oo, |

(M) SR FME TIT TTR oo oo,

e ] GEEW W 9l R e
g |

(B) o, v HIA AR H UPR WH mEn T
mF firaee §)

Unit I (3&TE 1)

2. How can you assess the nutritional status of a community
by using dietary assessment technique ?
AER FA THhAF H I9T FE 9 Bl wyE
o fiafy F1 omFem 9 X wwd ¥ 0

3. Discuss the causes, symptoms, dietary modification and
prevention of Vitamin A deficiency disorders.
fFaf T & =0 @ @F T e § wnd, e
HER WU SR UFUm F7 v FAw |

L-1809 2

4. Describe various types of microorganisms and ih.
harmful effects on food.
fafim war & gersial o 9 W T o
TE w1 A sy

Write short notes on the followin: :

n

(@)  Vitamin B12 deficiency anasmia
(b)  Beneficial effects of yeast.
frefafes = dfaw fewrfiel fafan .
(1) faorfm B12 & 591 9 =9 = =EEE
(F) 4= % a@9sh) yve |
Unit 1L (F&TE 11)
6. Why mm. it important to preserve the food 7 Deserile
various methods by using high temperatures.
FR g TS faf R w ade Fifam

7. Explain common adulterants presont in cereals, pulo

e ey
1 RN

I AN

Ay

and spices. How can vou identify them
ST, T SR TES T w7
TR | 39 3% Y UEEE fEA 7

=1 BT g

8. Describe various causes of food spoilage 2 [ew e v
prevent it ?
O WA ' F fafis wRel an i sifer
4 IF THG T 7

(6-05/7) 1.-1809 3 iy,
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GSM/M-22 1810
APPAREL DESIGNING AND SELECTION
Paper 212
Time : Three Hours] [Maximum Marks : 40

Note : Attempt Five questions in all, selecting rwo questions
from each Unit. Q. No. 1 is compulsory. All questions
carry equal marks,

TEH TS § S ¥eT 9Ad B, %o Ui Wl & S
AT | v wem 1 afEe o wh owe @ o
A
Compulsory Question ( 31F@&T ¥+ )
1. Write about the following : 2x4=8

(a) Renovation ,_

(b) Importance of clothing

(¢) Proportion

(d) Texture.

Frfefas & wr ¥ fofa

(&) et

() w98l + "

(") U
() foa=ag |

(3-05/3} L.-1810 P.T.O.



Unit I (373 I) 8. What is Texture Analysis 7 Write jts uses i relation

2. Give the comparison of home made, tailor made and search, occasion and figure.

readymade garments in detail. 8 T faveAw F=m w2 umm armm A
T A, o g AR aw e wei w e |G H TR IYAT TR
HIFT | 9. How the proper usc of lines in dress cun mprove i

3. Write about the care of clothing in detail. 8 personality of a person ?

TE W g F Ak § frer @ fefan | T o # SEA 1 owA fEm owmw st cE Sren
4. What are the various factors that should be considered in ‘

the selection of clothing for children ? Explain. 8
= & fo a9 W) e fa-fe o W e e
e ? T wfEw

3. Write about the clothing requirements of an adult
female, 8

Th F9%h Afeel F fau woad det smavamaet 8 an
o fafag |
Unit IT (3hTE 1T)

6. Write in detail about the various principles of design in
relation to clothing. 8
| At fewiea & fafir fagial # R § frewr 9
fefaa |

7. Explain different colour schemes with colour wheel and
relate it with your clothing. 8
T R e & fafie o e @ avk s |
O WA w1 A e fewstm ¥ frg uen
T FR qFA £ 2

L-1810 2 (3-05/4) L-1810 3 180
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GSM/M-22 1811
CHILDHOOD AND ADOLESCENT
DEVELOPMENT
Paper : 213

Time : Three Hours] [Maximum Marks : 40

Note : Attempt Five questions in all, selecting rwo questions
from each Unit. Q. No. 1 is compulsory. All questions
carry equal marks.

% FE § T WA I B, wo U W I
INT 1w Hem 1 afEd ? ) wd we # o
TE E

Compulsory Question ( 31fam w97 )

L. (1) Jov

e T

(if)  Pre-operational stage
o -Biwrares st ~

(1i1) Hand skills
TS F RIS

(iv) Bed wetting
foeae Ten @ | 2x4=8

(5-25/12)L.-1811 P.T.O.



Unit I (3873 1)

2.

8. Discuss common behavioural problems and their remedios
Describe motor development during infancy and childhood. o ‘ .
HHM H90Hd a8l 3N 395 TTEF 39 s T
8
) . 9. What is the role of family and community in socializoor
AN 1ol G ARl ¥ frEamme faem w1 wwemm | i L
of the child ? 5
3. What are the common emotions during childhood ? T ® GHEE § vRan @ e 39 s i %l
Discuss any three emotions in detail. 8
TR | H R T T ¥ 2 el A R
== HIfSg |
4. Discuss Piaget's theory of cognitive development. 8

frms & damers frem fazfa +I F9 Fifag |

5. Write about Kohlberg’s moral development theory. 8

FrEE g S T A frww gl w1 owet 3w
Unit II (3&73 11)

What do you understand by speech disorder ? Discuss

some speech defects,

6.

8
U THEN W AT N OGTER € 7 w9 9 9

FT == HIT

7. Describe the importance and types of play.

T ¥ TEw 9 TER ) R ® wwersy |
L-1811

(5-25/13)L-1811 180



Unit IV (373 IV)
8. Describe in detail in ‘role of consumer in market’. 8

AR W Iyd # g’ fm @ fafam |

9.  What do you mean by saving and investment ? What are
the different types of savings and investment pattern ? 8
T SR FEV A 9 T G ¥ 2 B vER @ e
IR fEw dof $-wmg &
L-1812 6 150

RolINo. vcvirverrerrerrerreane. ) Total Pages : 06

GSM/M-22 1812
FAMILY RESOURCE MANAGEMENT
Paper : II (214)

Time : Three Hours] [Maximum Marks : 40

Note : Attempt Five questions in all, selecting one question
from each Unit. Q. No. 1 is compulsory. All questions
carry equal marks.

TE TEE W TR T I gU, | Ui W @
S AR | e w1 wfEE § 1w e @
¥F TR T |

Compulsory Question ( 31famd wy)

1. Choose the correct option : 1x8=8
wEl faeew AU ¢
{a) Income from all sources is called :
(i)  Psychic income
(ii) Money income
(iii) Real income

gt avHl ¥ W9 oW @ Fed § o

() Tt
(i) Wfzw sm7
(il) =wAfaF o

(5-06/8) 1.-1812 P.T.O.



(b)

(c)

(d)

L-1812

Best work curve is ;

(1)  When our body is cool

(i) Body is hot

(1ii) No effect of these

T =g wE H W F e § 0

() = R I s @

G T Fw 2

(i) = FX v T =

When rest period is too long ?

(i)  Muscles becomes in active

(i) Muscles become active

(iii) No effect on body

fasm s oy o B O 3w % 0
() dEiEl g@ e W #

() = e T 2

(i) =8 wwE T @@

What is the energy cost of light work in cal/min ?
(i) 2-3.5

(i) 0.5 to 1

(i) 1.4-2.0

Th FE H S Gew W Fean e o frae
% = gm ¢ 2

i) 2-3.5
i 0549
(i) 1.4-2.0

(€)

()

(g)

What happens to energy and tme in work
simplification ?

(1)  Saves time and energy

(11)  Waste time and energy

(11) No effect

FE WA T ow ol wte w s w20
iy == T ®

(i) emvem e #

(i) = Jwa = =&

Estimation of expenditure according to income is

called
(i) Budget
(i1)  Debit

(111) Evaluation
A T FEN VW # w w SHEE oM e W
E

i) =
(i) =fa=
(ili) FeHA

What is standardization mark on pressure cooker ?
(1)  AFPO

(i) ISI°

(111))  Agmark

WR FF W BN TEE PR e s
() WTEHLe

(i)  oTEumer.

(iify W

(5-06/9) L-1812 3 P.T.O.



{h) Standardized marks sh

ows Unit II G 1)

(1) Good qualjiy
/ MC_WL:,/
i 4, What do you mean by Energy ? Explain the energy

(i) Costly products
‘ ; demands during different stages of family life-cycle. 8

(i1} Cheap produets, P y 5 oo £ &
e , ol forw wed € 0 faf= st =% &t oewensti A
PR F oam & e o . R
0 v : Enfco i aailicalcere f sl
SIDIE: -2 - 5. Explain various types of efforts in detail. 8
i TS R g % wEEw | fafe Tl w1 See@ st |
Unit I (g | Unit IIT (315 110)
20 WhHat is time manseene e o o 6. Define the following : 2%4=8
Mandgenent Y Explain the need of time g
management in deaj] (a) Money Management
T ST © e v £ 8 b) Budget
o wﬁs_ﬁﬂawﬂnﬁﬂmﬂﬁuﬂwﬁ (b) ge
HITTHTr & 7 (¢) Income
3. Write short notes on the following : 2x4 (d) Savings
(@) Work curves =8 frefafea = wfoafm S
(b)  Peak load (37) 979 =R9A
(¢} Evaluation of 1ime plan (9) ==
(d)  Rest period. (q) =1
e e wie ferfam () @99 |
() 7 s 7. Explain in detail various types of expenditure and factors
(F) o : : : .
m ) S Fidar affecting family expenditure. 8
) . ; : .
| ) TR B gy oG & FER FE-FAY E e WAl =E g
T v e
) TaEm : FH O FREH F IR A fafey |
L-1812
4 (5-06:0)L-1812 5 P.T.0.
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. GSM/M-22 1813

COMMUNITY DEVELOPMENT AND
EXTENSION EDUCATION-II
Paper : 215

Time : Three Hours] [Maximum Marks : 40

Note : Attempt Five questions in all, selecting rwo questions
from each Unit. Q. No. 1 is compulsory. All questions
carry equal marks,

TOIE TEE W W 9 I g, ool w8 39w
ANT | ve7 F&m 1 offad & 1 9vft wodt & sim
T E
Compulsory Question ( 3tfard o) -
1. Explain each only 4-5 lines : 4x2=8
(1} Community’ Development
(i)  Critical Analysis
(iii) Non-projected Aids
(iv) Objectives of Extension Education.
TEF I wad 4-5 vREE § smew st
S CUR I CEaty
(iiy wfea favasm
(ili) A-WeRT UEw
(iv) wOR (faenr) foar = =
(6-03/5) 1.-1813 PT.O."



UnitI (g2 1)

Define Community Development. Explain their purpose
and goals in detail. 8
iRIfrE fae # ofenfen wifwe | e wRvE aen
Al w s wifey |

Explain Community Development Programmes in India
in detail. 8
TR § Wi fae wE w5 faew 9 v i
Explain the classification of audio-visual aids and its

importance. 8

TVA- 958 IYFON H R FIC g THE oA
FT FUH HfTT |
Differentiate between projected and non-projected aids. 8
SSRE A AT SuEl § o e 2

Unit IT ( 3e13 11 )
What do you mean by Extension Education ? Explain its

principles in detail. 8

TER e | o w wwem € 2 sww fagr @ faww
g gufr Hifdy |
Explain the qualities of a good extension worker in

extension education. 8

TR e Tk o weR () s % e o
R HIT |

L-1813 2

8. What is the role of Home Scientists in Community
Development ? Explain in detail. 8
Te SR & A fawm d e w3 0 faew
Y AT FHIAT |

9.  What is the meaning of programme planning ? Explain
its importance in detail. 8
FREIFE GHOA F1 FN o ¥ 7 sow v w5 faew
T ST HI |

(6-03/6) 1.-1813 3 180



ROIINo. vt Total Pages : 03

GSM/M-22 1814
INTRODUCTORY PHYSICS
216
Time : Three Hours] [Maximum Marks : 40

Note : Attempt Five questions in all, selecting two questions
from each Unit. Q. No. 1 is compulsory. .
TE TE W D W 9 g, T u e @
TN A | 51 Hewm 1 sfed

Compulsory Question ( 31fard 79+ )

1. (a) What is Capillary Action ?

wRE fr @@ ® 2

(b)  What is the cause of atmospheric pressure ?
TGHSHE TEE HOFRT T T2

(¢) How reverberations occur ?
gt &9 TR 8 2

(d)  What are the disadvantages of an incadscent bulb ?
Th WARRH 969§ TR g9 § 2

Unit I (3573 1)

2. (a} What is Archimedes principle and how is it useful 7’
4
sfefree fagia =1 ? ol o2 39 svah & 2

(2-04/7) L-1814(TR) P.T.O.



L-1814(TR)

(b) Explain the construction and working of "a
commercial barometer. 4
E Afhed TS # e sk w9 W amen
HINT |

(@) Explain hardpess of solids, How one can measure
the hardness practically ? 4
3G F FSRT F SN FAN | SHEERE w5
¥ FIRW B FE FQ AT Gh@ ¢ 7

(b)  Describe MKS units system. 4

TAHGE. TR T &1 &9 HifEe |

Explain the principle, construction and working of scissors

and egg beater. 8
&H o w e B fogrm, Fiv e weweR w9
=& Fify |

What are centripetal and centrifugal forces ? Explain the
operation of spin dryer in 2 washing machine. 8
=l o st v s § 2 o weim ¥ fom
YR F HAEH %1 =REl B |

Unit 11 (3T 11 )

Explain humidity and relative humidity. How these

(a)
physical quantities car be measured ? 4
SE SR W SEE F e s o
I ® o oWT W gwa €2

[ =]

(2-04/8) L-1814(TR) 3

(b)

Describe the operation of a vacuum coffee maker.

4
ST FIE B F WA S avH Ff |
Define wavelength, frequency and amplitude phasc and
cstablish a relationship among them. 8
o 2, e el e e @ uRwRE #RT siv
ST 9 Hey e #ifE |

Describe the operation of ac and dc generators. 8

TH IR G T B FHEem @ 5wt |

{(a) Explain the role of a fuse in electric applhiances.
What should be features of a good fuse 2 With
what materials a commercial fuse is made of ? 4
faoeht & st d we o ufim # oswen
TG | T o ww # favwad s Ee
wfeq ? s WS R Bt 9 3 ee 27
(b)  What do you understand by conservation of energy
and why it is needed ? 4

S ® WET W OHY F® YR € sk zme
AEvTFG = T 7

180
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BSIT/M-22 26100
DIGITAL ELECTRONICS-III
BSIT-401
I:me : Three Hours] [Maximum Marks : 40

Note : Attempt Five questions in all, selecting one question
from each Unit. Q. No. 1 is compulsory. All questions

carry equal marks.

. (a) Differentiate  between  Asynchronous  and

Synchronous Counter.

(b) What are shift registers ? Enlist various applications

of shift registers.
(c) State the difference between PROM and EPROM.
(d) Define the terms :
()  Resolution
(i) Monotonicity. . 2x4=8
Unit I
. {(a) Draw 4-bit Asynchronous counter and explain its
working.

(b) Discuss the procedure to design a synchronous

counter. 543

i +-30/4) L-26100 P.T.O.



1.-26100

(a) Design a 3 bit synchronous up down counter us:ny
JK flip-flop.
(b) Discuss any #wo applications of counters in digi:a
circuits. S+3
Unit IX
(a) Draw the circuit and discuss the working of SI¢C
shift register taking suitable oxmau_o.
(b) Design a sequence generator for the sequer ¢
1101001 using D flip-flop. : 44
Explain the working of Bidirectional shift regist r
Elaborate the circuit with suitable example. 8
Unit I11
(a) Define the following terms :

(b)

(i) Memory Cell

(ity Address Line

(iii) Data Line

(iv) Access Time.

Briefly state the difference between

{iy PROM and EPROM

(i) Bipolar and MOS RAM, 4+ 4

(b)

8. ()
(b)

(b)

(3-30/5) L-26100

Design a 1 K x & bit memory chip using 1 K =

chips.

Differentiate between Static RAM and Dyvnamic

RAM. gt
Unit IV

Explain the working of R-2R ladder tvpe DAC.

For a 10 bit ADC, full scale input is 10 V. Find the

resolution, 642

Discuss the working of dual slope Analoy to digital

converter. Enlist its advantages over single slope

ADC.

Define the terms

(1)  Quantization error

(i)  Setting Time

N

(i) Stability. S5+2

.



Roll NO. viveneerinnnnenerasenns Total Pages : 03

BSIT/M-22 26101
OSCILLATORS & MULTIVIBRATORS
BSIT-402
Time : Three Hours] [Maximum Marks : 40

Note : Attempt Five questions in all, selecting one question
from each Unit. Q. No. 1 is compulsory. All questions
carry equal marks.

Compulsory Question

1. (a) Why mput offset voltage exist in Op-amps ? 2
(b Can a negative feedback amplifier work as
oscillators 7 N 2

(¢) Give two Barkhausen conditions to get sustained

oscillations. 2

(d) What are the applications of 555 Timer ? 2

Unit I

2. (a) Draw the circuit of Op-amp Integrator and indicate
how to apply initial conditions. How offset voltage

and bias current affect its performance ? 4

(2-25/11)1.-26101 P.T.O.



(b)

(b)

(b)

(b)

Explain with the help of circuit diagram, how op-

amp can be used to multiply two signals ? 4

Draw and discuss the circuit of Schmitt trigger. 4
Discuss 1st order (First order) low pass active filter

using op-amp. 4
Unit 11

Explain, how the input resistance of an amplifier
increases with negative feedback ? 4
What do you mean by feedback ? List two types of
feedback. Which type is used for linear applications
and S&w ? 4

Explain, how negative feedback in an amplifier
helps in reducing the distortion and noise ? 4
An amplifier has an input resistance of 1 kQ) and
output resistance of 10 kQ and a voltage gain of
10,000. If a negative feedback of B = 0.02 is applied
to it, determine the input and output resistances of

the amplifier. 4

Unit III

6. Draw the circuit of Hartley Oscillator and explain its
operation. Find the expression of frequency of oscillations.

1-26101

8

7. Draw the circuit of RC phase shift oscillator and explimn
its working and calculate the frequencey of oscillations, 8
Unit IV

8. (&) The 555 timer as an astable multivibrator has R, =

10 k€@ and R, = 50 kQ and C = 0.05uf. Calculate

the frequency and duty cycle. 3

(b) Draw and explain the circuit of monostable

multivibrator by using 555 timer. 3

9. Draw and discuss transistorized Astable Multivibraos
Derive the expression for its frequency,

(2-25/12) L-26101 3 150
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BSIT/M-22 26102

TELECOMMUNICATION AND
NETWORKING-II
BSIT-403

I ne : Three Hours) [Maximum Marks : 40

Note © Attempt Five questions in all, selecting one question

from each Unit. Q. No. 1 is compulsory.

(Compulsory Question)
l. (a) What is network and why network devices are
tmportant ? 2
(b)  What 1s Handoff in cellular network ? 2

(c) Why fiber optic cable is preferred over co-axial
cable for data transmission ? 2
m& What are the sources of attenuation in fiber optic

cable ? 2
Unit [
. Explain the following network devices : 2x4=8
(i) HUB
(1)  Bridge

(111)  Switch

(1v)  Gateway.

LL336) L-26102 P.T.O.



Name the two different categories of transmission medium

Explain in detail. p
Unit IJ

(a)  How the call is set-up in cellular network ? Expliir

with diagram. 4

(b}  Explain IS-95 architecture in cellular system. 4

(a)  What is frequency reuse in cellular network 2 Wl
are its advantages and disadvaniages ? 4

{(b) Explain GSM architecture for mobile network. 4
Unit 111

Draw the basic block diagram of fiber optic

communication system and what are the applications of

fiber optics. 5
(a} How is the optical fiber cable constructed ? Explain.

4
{b) What is critical angle in optical fiber ? Discuss 1'¢

i

propagation of light in optical tiber 4
Unit IV

(a)  What is attenuation in fiber optic cable and how
can 1t be improved ? 4
(b) Explain different layers used in fiber optic cab.¢

with diagram. 4

L-26102 2

9. (a) Discuss differer

cable.
(b Explain optical

communicaton.

(5-25/7) 1.-26102

tad
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BSIT/M-22 26103
MICROPROCESSOR ARCHITECTURE AND
PROGRAMMING-II
BSIT-404

Time : Three Hours] [Maximum Marks : 40

Note : Attempt Five questions in all, selecting one question
from each Unit. Q. No. 1 is compulsory.
(Compulsory Question)
I. (@) Identify port address using CS» Apand A;. Cg is
enabled when the address line A is high. 2
(b) Discuss control word register format of 8254. 2
(c) What is the operating frequency of 8253 2 1

(d) How many address lines and data line are available

in 8086 ? 1
(e) Discuss TRAP flag and Direction flag of 8086. 2

Unit I

2. (a) Design an interface of ADC 0801 with the 8085
microprocessor using memory mapped IO scheme

and the interrupt RST 6.5. 4

(5-35/5) L-26103 P.T.O.



(b)

(b)

(b)

(b)

(b)

1L-26103

Discuss the contro] logic signals and circuit of 8255,

4
Discuss various handshake signals exchanged
between microprocessor and 8255 used as input
configuration prior to data transfer in model. Write
control word and status word, 6
Write a control word to configure PPI 8255 in

mode 2, where port B is used as output port in
model, 2

Unit 1T
Discuss the block diagram of 8253 in detajl, 4

Explain 8253 operated in mode 0 i.e. interrupt on
terminal count and where this mode is useful. 4

Discuss 8253 to design as software triggered strobe
and hardware triggered strobe with timing diagram.

6
Write a program to generate a 10 kHz square wave

from counter 1. 2
Unit IIT

Discuss the different segment registers with their

uses and explain pointer and index register of 8086.

4

Discuss the function of each pin of 8086 in

minimum and Smi_E:B mode. 4

2

(b)

(b)

(b)

Calculate the effective physical address of 8086 for
the following instructions - 4
(1) MOV AX, 70H[BX][SI]

(i) MOV AX, [BX][SH].

Where [BX] = 2000 H, [SI] = 1050 H, DS = 3000 H.

Explain the following instruction in 8086 : 4
(i) DAA
(i) CMP
(iti) DIV
(ivy INC.

Unit IV
Discuss the machine code tempelete for IN Al
05 H instruction. 4
Discuss the following jump instructions - 4
i) JNBE ,
(ify JNLE
(iil) JNGE
(iv) JINAE.

Discuss multiple IF-THEN-ELSE structure using
flow chart and implement it in the assembly
language program. 4
How is REPEAT-UNTIL different from WHILE-
DO structure 2 Explain with assembly language

program. 4

(5-35/6) L-26103 3 150
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BSIT/M-22 26104
OPERATING SYSTEM-II
BSIT-405
Time : Three Hours) [Maximum Marks : 40

Note : Attempt Five questions in all, selecting one question
from each Unit. Q. No. 1 is compulsory. All questions
carry equal marks.

Compulsory Question

1. Write short notes on the following :
(a) Dynamic Linking Libraries
(b) Virtual Address Space
(c¢) File Operations
(d) User Authentication. 4x2

Unit I

2. Write short notes on the following :
(a) Hierarchical paging
(b) Hashed Page Tables. 4x2

3. What are the advantages and disadvantages of variable
partitioned memory management scheme over fixed
partitioned memory management scheme ? 8

(2-3213) L-26104 P.T.O.



Unit 11
Discuss the least recently used algorithm with example. 8

What is the cause of Thrashing ? How does the system
detect Thrashing ? Once it detects Thrashing, what can

the system do to eliminate this problem ? 8

Unit III

Write short notes on the following :
(a) Single-level Directory
(b) Two-level Directory. 4x2=8

Contrast the performance of the three techniques for
allocating disk blocks (contiguous, linked and indexed)

for both sequential and random access files. 8

Unit IV

Compare symmetric and asymmetric encryption schemes.
8

Discuss general model of protection called access matrix.
8

126104 2 150
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BSIT/M-22 26105
COMPUTER PROGRAMMING WITH C-II
BSIT-406
Time : Three Hours] [Maximum Marks ; 40

Note : Attempt Five questions in all. Q. No. 1 is compulsory
and one question from each Unit, All questions carry
equal marks.

1. (a) What is meant by preprocessor directive ? 2
(b) What is meant by command line arguments ? 2

(¢) How would you declare and define a pointer
variable ? 2

(d)  Explain different file operations in C. 2

Unit I

[

What is macro substitution ? Explain its types in detail.
8

3. Explain compiler control directives using suitable

examples. 8

(2-32/4) 126105 P.T.O.



Unit I1

Distinguish between the following :

(a) & and * operator 2
(b) actual and formal parameters 3
(c) local and global variables, 3

What is Recursion ? Write a program to print the Fibonacci

series using recursive function. 8

Unit 111

What do you mean by a pointer ? Explain various
operations that can be performed on pointer C using
suitable example. 8

What is meant by structure and union ? How these are
used in C. Explain in detail by writing suitable program
for both. 8

Unit IV
Explain various storage classes in C in detail. 8

Write a program to read and write the content of a file
using file /O functions, 8

L-26105 2 150
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GSQ/M-22 1742
REAL AND COMPLEX ANALYSIS
BM-361

IMaximum Marks @ 40

{hree Hours]

Note o Atempt Five questions in alll sclecting ene guestion
from cach Uit Q. No.o 1 is compulsery. All questions
carrv equal marks.

Compulsory Question
1. (&) [Express the following integral as Beta Function: 2

SR . [\_\u
J A Al
7 [8—x dx

J

(by  Prove that rcal and imaginary parts of an analyviic

function are Harmonic functions. 2
. . : N | .
(¢i  Tind the image of _nlui =3 under the mapping
]
W 2

[ O]

State Passeval’s identity for Fourier sencs.

Unit 1

20y Show thar the functions =77, V=

(G047 03521742 P.T.9).



(b)

4. (a)

(b)

L-1742

W= N are ndependent of one another. Also.

‘nd the relation between them. 4

m=0 -l
1 RY -+ X

Show  that wT:L& = .h s om>0.

K A_ N H,v:mi:

1=, 4

e

: N 2 2 :
-vatuate :z_,_m =X = v dvdy over the semi-

l )

circle 74 17 =gv in the positive quadrant. 4

Ui Dirichletrs theorem. find the veolume bounded

2 g
by the surface ./) + e) + =1, 4

a bt

Unit |1

Find  the Fouricr Series for the functon

F(x)=]sinx
Obtain the Tourier Scries expansion of the function

defined by

DT x <. 4

[ 2y
- — it ~TExE0
S(x)= .
[——if O<x<x
_ S | 7
Fence deduce that =+ —5+—+...=—. 4
I 37 5" 3

-5
e

6.

(a)

(a)

(b)

(a)

(b}

Find the Tourier Series expansion of \A,L = XSIny

i the interval ﬁln. l_ Henee, deduce that

i

1 | ]

-+ -—— -t — ... 4

35 57

I

da
to | —

Obtain .\T.vua as half range cosine scrics in
4
Unit 111

2

m_ 1s continuous
1

Show that the function lmvh
evervwhere but nowhere differentiable except at
origin. 4

It \.Auvu i+ v is an analytic function of z, find

F(z) if v =(x~3) au+fu.+.<wv. 4

Show that the function :

.\TUH — -#0
0 : z=0

s not ditferentable at origm. alhough the CR

cguations are satisfied at that point. 4

If _\.Anv 1510

awlar function, prove that :

AR YR 2
— T :\ w_ =4 ’ z !
oo N =) :

7

(0-04/14) 1 .-1742 3 P.T.O.
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Total Pages : 04

GSQ/M-22 1743
MATHEMATICS
BM-362

Lincar Algebra

[Maximum Marks : 40

Attempt Five questions in all, selecting one question

from each Unit. . No. 1 is compulsory.

(Compulsory Question)

Define Vector Space Isomorphism. 1
Define null space of a Linear Transformation. 1
Define self-adjoint operator. |

Prove that 1s always a unit vector. 2%

Skow " that any field forms a vector space over

nseli 2%
Unit I

Intersection of two sub-spaces W, and W, of vector

space V(F) is also a sub-space of V(F), 4

Union of two subspaces need not be a subspace.

rove ar disprove, 4

P.T.O.



2 a0 Show that the se of shroe oo o o Unit 711
o 30 by and (=3 00 1y oo YT s dinoar TR 422 T L U PP S Vo e two nvertiblo

independent. -where Q is the -0 o0 7oory

numbers,

ihe A nom-empiv set Woof a veotor S

Ly ' Tosd .
space of W ff au+bhve W W o DY
. : ; : IS Sing L o LTS T T e
. beF, where F s a ficld ol -« v 0 v ‘ ;
over I d i TR aefined by oo
Unit 11 T v otk y ez Trn 2v-o Sy
4. Find a Linear Iranstormat which g relative o cpe stndad basis of IR and 4

7. (ar Dwo mainicss ave shmeder T they o

(2. 1y in IRZ :

characievistic

5

i) Find a Lincar Transformation 11~ — 17 wheeo minimal polynomial o7 =

range space is spanned by the wvectors (i, kY

(4. 5. 6). ‘

5. {a) Show that the transfermation : 3 - IR° :
, where TR - R 4
by  T{x . xo.x3)=(x.x] :

Transformation and s opte hu ol one-te-ong. 4

. . . - . . , , i ot VIF an
{(by If T-v >V isa Linear Transloraaion. men ; ) Let V(%) be ar

following statements are equivaleni : -

such that <.
(i) Wﬁjj Zmd = ﬁow

7
|

and v are 'inearly dependent. 5
) If T{T(v))=0, then T

(V=¥ ye V. ‘b1 State and nrove Bessel's Inequality. t

L-1743 2
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29.2 kiv'h respectively,

v

The seloeny at the maximu

horizon so

woowalls of coust oishn g distone

2a from cach other

‘-..

qQQ; i

Section IV

To prove analvtically  that when the  central

acceleration varies as some integral power of the

distance, there are at the most twe apsidal distan

A particle deseribes the cumve p = g4sin 6 unde
the foree /1o the pole. Find the law of force. 4

~ . . n

Find the acceleration of a particle in terms of

eyvlinderical polar co-ordinates, 4

test and least velocities of a certain planct

30 km/h and

The area

fam

i s orbit round the sun are
Find cecentricity of the orbit,

1

4 3,700

RO NO. oeeeriervresreieens

Time : Three Hours|

N

(3-

Total Pages @ 34

GSQ/M-22
MATHEMATICS
BM-363
Dyvnamics

1744

FMaximum Marks 40

ote © Atiempt Fiae questions in alll selecting one question
from cach Section. Q. Nu. 1 is compulsory.
(ay  Define relative velocity and relative aceelerntion tor
two particles with respect (o the same o
frame of reterence. 2
(b)  2ehine SHLML and write the expression for tis time
period. 2
{c) A particle 1s projected with @ velooin ol 24 5 0y
in directton making an angle 60° with the
horzontal. Find the horizontal range and the srenees
heiglt attained. N
(d)  Deline apse and apsidal distances. i
(e)  Write down Kepler's Law of planetary motion. 1
Section |
(a) If the angular velocity of a point meving in a plane
curve be constant about a fived origin. !
1ts fransverse acecleration
4
-3
03/9) L-1744 [ S



L ETAY

At the end of three successive seconds. the distances

-~ moving point with S.HM. from its mean position

measured in same direction are . 5. 5. Show that
e e . e . 2T
ihe period of complete oscillation is = sec where
&
cosf = —. 4
b

A particle of mass m hangs in equilibrium from a
tixed point O by an elastic string of natural length
/ and modulus of elasticity . the extenston produced
w1 the string being e¢. The mass 1s further pulled @
fength « (< ¢) and let go. Discuss the motion. 4

A person going eastwards with a velocity of

- km/h finds that the wind appears to blow directly
from the north. He doubles his specd and wind
appears 10 come from north-east. In what direction
and with what velocity is the wind blowing 7 4

Section 11

A load W 15 to be raised by a rope from rest to rest
ihrough a height A and the greatest tension which

the rope can safcly bear is nW. Show that the time

| 2nh

in which the ascent can be made Is (___ a(n ]_‘w.

4

2

(b)

(b)

(a)

(b)

Two heavy particles are attached together by a string
passing over a pulley. If the string can only support
a tension equal to one quarter of sum of two weights

at its ends, show that the least possible acccleration

g
be HIM 4
In any displaccment of a particle, the charge in
K.E. is equul to the work done by the impressed

forces acting on the particle. 4

Find the potential energy of an clastic string of

natural length / and modulus of clasticity A. when

it is stretched so as to be of length [ (> /). 4

Section 1)

below the

ra |

If a particle starts from rest at a depth

highest point of a smooth verticle circle of radius r,

r
prove that it will leave the circle at a distance =

3
ahove the centre. 4

Two particles arc let drop from the cusp of a cycloid

down the curve at an interval of time 7. Prove that

they will meet in time wﬁ, 1 M s

{3-03/10.-1744 3 P.T.O.



9. (a)
(b)

L-1750

Explain qualitatively how Raman lines originate 7 2
Find the ratio of frequency of oscillation of the
molecules H2CI35 and HICI:, 2

Draw energy diagram for transverse Zeeman cffect

for D, line of sodium 3°P; —» 37§, | 4

!

1a|

4 3,500

ROIING. o Total Pages : 04

GSQ/M-22 1750

PHYSICS
Paper : XII
Atomic and Molecular Spectroscopy

Time : Three Hours] [Maximum Marks @ 40

Note : Attempt Five questions in all, selecting one guestion
from each Unit. Q. No. 1 is compulsory.
Compulsory Question
1. Supply brief answers
(a)  Splitting of spectral lines in the Stark Effect depends
on which quantum number ? 1
(b)  Give example of two molecules which may show
both IR and Raman spectra. 1
(¢y  Write down the possible values of total angular
momentum quantum number I for LS coupling of
two atomie clecirons whose orbital quantum number
arc 1 and 2. 1
(&)  Name the molecular spectrumi which is ebserved

for the motecules HCI, HBr, HIL 1

(6-04/11) L-1750 P.T.O.



&)

(b)

(b)

1.-1750

Name the serics of spectral lines of lithium which
is obtained by transitions between :
(iy #P and 2S, n>2
(iiy »F and 3D, n>3. , 2
A beam of clectrons bombards a sample of hydrogen
through what potential difference must an electron
have been accelerated if the first line of the Balmer
series is to be cmitted ? 2
Unit I
State and prove Bohr’s correspondence principie. 4
Explain the various' quantum numbers associated
with Vector Atom model. 4
Deduce expression for the series spectra of hydrogen
like atom taking into account Finite Mass of

Nucleus. 6
The wavelength of first Balmer line (H,) of

hvdrogen is 6562.8 A. Calculate the wavelength of
the same iine for Tritium TEJ. 2

Unit I
Explain fine structure of hydrogen atom for H, Tine
and Hg line. Also write down intensity sclection
rules. 6

Find ground statg term of boron. 2

2

6.

(a)
(b)

()

(b)

(0)

(a)

(b)

State and prove Larmor’s theorem. 4
Discuss Sommerfeld’s Relativity Correction. 4
Unit 11

Write spectral terms for I.S coupling in atoms with
two equivalent electrons for (d 2) configuration. 2

Explain Hyperline structure of spectral lines and its

origin. 4
What is Lande’s Interval rule ? 2

Write spectral terms in case of three non-equivalent
clectrons for (spd) configuration. 3
Derive expression for Interaction energy in JJ
coupling (sp) configuration. 5
Unit IV
How can the pure Totation spectrum of H, molecule
be observed ? If the bond length of H, molecule is
0.07417 nm, what would be the spacing of lines in
its spectrum ? 4
An atom having one valence clectron 1s subjected
to an external magnetic field which is stronger than
the interna! ficld. Show that under these conditions

rov level splits into 221+ 1) levels with

each, enc
separation between  term ‘alues T“_erm:N_wvr

(metre™ D). Where L is Lorentz unit. 4

(6-04/12) L-1750 3 P.T.O.
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GSQ/M-22 1751
CHEMISTRY

Paper : XVIII CH-304

Inorganic Chemistry

Time : Three Hours| {Maximum Marks : 32
Note : Attempt Five questions in all. selecting Ave questions

each from Section A and Section B. Question No. 1 is

compulsory.

1. (1) Give one example cach of three electron donor and

four electren donor. 1
{(11)  What is Zeigler-Natta Catalyst ? 1

(iif}  What is the shape of O,-binding curve of IIb 21

(iv) Give nvo examples of borderline Lewis acids. 1

{v) Name any fwo free living bacteria. 1

(vi) Write the formula of conjugate base of HSO, . 1

(vil) Name any nvo essential trace elements. 1

(viil) Which discase is caused by excess of copper ? 1
Section A

2. (a) Discuss the factors that would be expected to

provide more stable metal carbon sigma bonds. 3

(5-07/3) L-1751 P.T.O.



(b)

(c)

(b)
(c)

5. (a)

(b

L-1751

Give any rwo reactions of Okgano-aluminium
compounds. 2
Explain, why CI-OH is an acid and NaOH is base 7

1
Explain the structure and bonding in metal olefinic
complexes. 3
What are hard acids 7 Give their important
characteristics. 2
Why do organolithium compounds prefer to
oligomerisé rather than exist as a single molecule 7 1
How does HSARB principle governs the occurrence
of minerals and poisoning of metal catalyst 7 3
What 1s Mercuration ? Give one example. 2
N, 1s 1soelectronic with CO. It is & poor-donor than
CO. Explain. : 1
What do wou understand by lLevelling and
differentiating solvents ? Give example in each case.

2
Discuss the relationship of m_moqosmmmme.:v.. with
hardness with special reference to Mulliken-Jaffe
defintion. 2

Comment on the feasibility of the recaction : 2
(iy LiF + Csl —— Lil + CsF
iy SO;* + HF -——— HSO; + .

2

(b)

(0)

(©)
8. (a)
(b)

(b)

Section B

What i1s porphyrin ? Draw the structure of Heme. 2
What do you understand by Block and Graft
copoivmers ? 2
Discuss the biological role of Na and K jons. 2
What is Cooperativity in Hemoglobin ? How is 1t
conveved ? 2

State fundamental requirements for biological

nitrogen fixation, 3
What is the biological function of Zn2* ? 1
Write a short note on silicone elastomers. 3

What is Island medel of bonding in cyclic
(NPCl,), ? 3
What 1s  Crosslinking ?  Explain  important
consequences of crosslinking in macro molecules. 3

Discuss the role of Haemoglobin and Myoglobin in

transporting O,. 3

(5-67/4) L-1751 3 3,150



(1) The selution of benzoic acid in benzene shows

_ ROl N6, v, Total Pages : 04
less osmotic pressure than expected.
e GSQ/M-22 1752
(1) The relative lowering of VAPOUr pPressure 1soa
CHEMISTRY

colligative property.

Paper XIX (CH-305)

b Out of one molar and one molal agueous solutions. . ‘ :
o) : pie motat aque Physical Chemistry (Theory)

which one is more concentrated and why 7 1%
lime ; Three Hours] [Maximum Marks : 32
Note : Attempt Five questions in all. selecting rwo questions
from each Unit. Q. No. 1 is compulsory. Use of [ .oe-
table and Non-programming calculator is allowed.

(Compulsory Question)

1. (@) Give rwo examples of photosensitized reactions. 2

]

(b)  What is meant by thermodynamic probability
Hustrate with example. 2

(¢} What is "Eutectic Mixture” ? Caleulate the degrecs

of freedom of Ph-Ag system at cutecic point. 2

{d)  Define ideal and non-ideal solutions TGive one
example of each of them. 2

Unit I
2. (a) State and explatn = Stark-Tinstein = luw  of

photochemical equivalence. 3

L-1752 4 3,150 (3-036) 1.-1752 P.T.O.



H

1 vapours was carried Unit 11

(hy  The photodecs

Tt ' . § I - .
4 adl s elenatin Jt AL ADSOrplc : ; YA fT T : :
out it rad vavelength L Absorption 6. (a0 Define “Gibbs Phase Rule”. How can vou derive it
ol each colorie saey 124+ 107 g ol s Calenlae : ,
' = - hermodvnamically 7 3
the quanid 2
(vy Draw a labelled phase diagram for water systen.
R Pifterentiate ot fluereseenee and X
phosphoresce nsha o diagram
o 70wy Deline the terms . 34
depicting 1
. ‘ . . (L Phasc
(by  What do sou men DY guantum vield ot a
photochem reuction 7 Why the quantum vield of (v Component
phtosynthesis of LT doereases 1 the vessel contains (iii)  Degrees of Freedom.
small traces of oxvgen 7 2 . o . . .
e (h Discuss the application of Phase Rule 1 Patis<on
4. (1) What are pnoiochemical reactions - Give the nuuin process for the desilverisation of lead. 1v

- between photochemical reaction

points of diticn

wlant. Derive the

) Deline molal depressior

il reachion, 3 L .
relationghip between depression in Ireeszing poimnt

‘

Write the mrportait Teatures of Maowel-Boltrmann

and molality of the dissolved selute. 4
ot 3

i a-

(b Caleulate the osmotie pressure of 0.01 M osolution
3

Partition Junction

() Wi deooooow

of canesugar at 27°C (R — 00821 tre-ntn deeree

=

function for a system

Show thei teo ot norlii

nol}. 3
mav be exprossed Gy o of transtatonal.
. S C . o sy Give reasons for the following ¢ 4
rotagonal. vibradonn oma Jlectronie partiion =
functions 4 . vhe  eguimolar soluiions of Nah and
M AN * it 1 o s ._J ] ot .4.
by Discuss Born-Gp Approsimation, p canesupar do not have the same borting pomnt

3 PA

L-1752 2 TRETRETN I I
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Wrae cquations tor the preparaiion o1 (-aming acids

in i Gabriel Phihalimide syvnthesis (1) Thredt

amination of ¢-hale acids.

Wit are neutrat, acidie and b
Wnat is 4 Zwitter 1on 7 Give evideioes v i e o

Zwitier ion structure in amino acids.

Prepare a dipeptide Gly-Aly by classical peptide

synthesis.

Txplain the term jsoelectric point of amine acids.

Compare the Fibrous and Globular proteins.
2x3=0

Lo
L
rth
o=

Roll &n, L.

Time : Three Hours|

. Total Pages : 04

GSQ/M-22 1753
CHEMISTRY
Paper 11 (XX-CH-306)
Organic Chemistry

fMaximum Marks : 32

Note : Attempt Five questions in all. selecting nvo questions
from each Section. Q. No. 1 is compulsory.
Compulsory Question

. (a) Svnthesis thiophene from [.4-diketone.
(b} Arrange in increasing order of basicity
Pippridine. Pyriole, Pyridine. .
(cy  Draw the structure of cnolate tons obtained from
acetyvi acetone.
(Y Out of the accione and diethy] malonate which has
more acidic strenuth and why.
{¢) What are ¢-amipoactds 7 Give example.
(fy  Define cssential aminoacid with example.
(v} Give one example each eof ¢
(1) Polveste
(ity  Phenol formaldehvde resin.
(hy  Detine the terms Polvmerisation and Polymer.
(20214 1.-1753 PT.0.



(b)

(b)

(c)

(b)

(c)

L-1753 .

Section A

Write about molecular orbital structure ol Pyirole.
Sketch  the following reaction  and  give

mechanism : 2x3=6

Fo + NaNH, —»

What happens when
(1} Quinoline reacts with KMnO,

(i) Isoquinoline reacts with Sn/HCI ?

Explain  low reactivity of Pyridine towards

clectrophilic substitution reactions.

Compare the aromatic character of furan. thiophene.

pyrrole,

Write a note on skraup synthesis of gquinoline.
2x3=6

Give mechanism of Claisen condensation.
Prepare from malonic ester (i) 1. 3-Dicarboxylic
acid (ii) 2-Methyl butanecic acid.
Which alkyl hahdes is used in preparation of
O
QEMHOEJOENIW_AL,IU, from ethylacetoacetate.
2+3+1=6

n

(a)

()

(c)

Comment upon ketonic hydrolvsis in the synthetic

importance of Cthylacetoacetate.

Prepare trom ot lacetoacetate (1) n-valeric acid

Synthesize evelobuiane carboxylic actd from malonic

CSLeT 2x3=06

Section B

Write the general mechanism for free radical vinyl
polymerisation,
Prepare and write the uses of (i) Teflon (1) Styron.

Explain Ziegler-Natta Polymerisation. 2x3=6

Comment upon stereochemistry ot Polvmerisation.
Prepare and write the uses of ¢

(1 Urea formaldchyde resin

(11y  Perlon.

Ol the following which one would show maximum
reactivity towards anionic and which one would
show  maximum  reactivity  towards — cationic
polymerisation 2x3=6

CH,=CH,. CTEL=CHCH,, CHL,CHCN

(2-02/15)F 1753 3 P.T.O.
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GSQ/M-22 1756
RINGTEMISTRY AND PLANT

STOTLECHNOGLOGY

Paper

Sime s Viiee e Sdavaurne Marks

vote Sree esttons in afll s cecting fro questions
< Noo b s commalsory, All questings
cormy oneal *ose Supplemen voor answer with

LARTIVED NECESSAly

cens 7 Glve o enample,

L Nans iz wonstanee ased for oo
LG

Vi 1te e otion of

Do e piement present oaossot nodiios
: sl s wwhat s b dus ?
; Voo L N

-
i
]
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b
o
H

" S b totivotey
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Lh

"

eobhaciogy 7 W hat cnarocten

on the

“WVrite short notzs

.

gaed as veciors U oiiiscuss the

(o  Differentiaie betwein compeniing mhibison oo

atlosteric inhibition of enzyrie

Lock and xey mechanisn o

irocharooi:

Do L T - 4 . Lo iyt . oL -
.,L, Teegiunisr s Q6 Acth. voans P
PR N
el wre

(h) Phases o cronath

Yrite Ghors s on the ollowir

inovarsus oart

Sf o plang 7

Write <hort nows on the ollowiny

{ay  Biolouical nitrngen ifixation

(hy  Ammoniuni ass.amil




HOHNO. ot Totai Pages : 03

GSG/M-22 1757
BOTANY
Paper @ Il

Economic Botany

Jine  d

Evlaximum Marks : 40

Note © Atompt Five questions in all, selecting ene question

rom each Umt. Q. No. 1 is co npulsory. All questions
carry equal marks.
iCompulsory Question)
L. Define the following - 1x8=8
(2)  Bulb -
(b)  Tuber

e Bast {iber

(d)  Spices and condiments

{c

plantation

vodeseribe the oriein, distribution, cultivation and

voos ool More 8

1O,



~3

Write short notes on the flleviics 9.

{ny  Coconut 4
(HY  Pea. 4

{hve woconcise account of cuite sy ot the
frlowing

(1) Groundnut
() Mustard. “
Discuss the characternistic feat

past fibers, Describe e

calivaen and uses ¢

P
]

uses of tea S
Give the botanical porves, o RN
o rion and wses of tiwe fol

tay Cloves
{hy Rubber. !

Upit §fV

Give a concise

scount of botan e

and uses of svearcane.

Write short notes on any hro of the {ollow

Rouwolfia
by  Cinchonu
(Y Cunnabis.

1757 3
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GEQ/M-22
ZO0LOGY
Paper : |

Aquacnll

e and Pest Management—I

1758

Time @ Three Hours| [Maximum Marks : 40

Note 1 Attempt /

questions in all, selecting rwo questions

Irom Section A and Section B. . No. 1 is compulsory.

1. Explain the following 11 about 20 words cach : 1.5%10=15

(a} TAO
(b} Capture fis

erles

(c) Fishing gears
(d)  Tuticorin boal
(e)

(1) position of Gurdaspur Borer

w3 osuszarcane ¢crop

(1) Commoen sane of Sesamia inferens

SOl

saction A

{a)  Enume-ate ceclosical tactors aftecting preductivity

of regervair

{5y Diesor = Toie D heries,

o
i
[
x|

-
w

el

1



(a)  What are fishing <

(h)y  What 1s a dugout

P
L3

from a outrigger canoe 7

(¢)  Write a note on two indigenous fishing crafts

v an

in India. 2.2
Write notes on the following

(ay Pearl culture

[

by  World fish demand and utilizativa, 3.2%
(a) Describe  induced  breeding  1n fishes by

nypophysation. RIS
(b) What are the advantages of induced breeding 7 3

Section B

Fxplain the systematic posifion, habits, nauture of damage.
life-cyvele and prevention and control of sugarcane jeal-
hopper. 6.25
(a)  What is integrated pest management ? 1
(by  DPescribc components and advantages of integrated

pest management. 5.25

Give the systematic position of Qe following pesis @

(a)  Wheat stem borer 1.75
(b W@& cotton buy 1.5
(¢)  Sugarcane white flv 1.5
(d) Pumpkin fruit tly. 1.2

Write notes on the damage causing stage and control
measures of the following
Gundhi bug

Sugarcane top borc

S

Red pumpkin beetle.

"




Roli No. coocvevniiininneee, Total Pages : 02

GSQ/M-22 1759
ZO0LOGY
Paper : 11

Aquaculture and “Pest Management-I1

Time : Three Hours] [Maximum Marks : 40

Mote © Attempt Five questions in all. Q. No. 1 is compulsory.
Answer to cach part should not exced 20 words. Out of
remaining eight. attempt four questions. selecting nro

questions from cach Section.

i. Explain the following in about 20 words cach : 1.5x10=15

far I
‘D) Luryphagic

{ci  DBenchr ial

td)  Monosex cultuie
(ey Weed fish

(3 Transgenic {ish

Carerpitlar

Tanngants

t o darmag

es classification based on mode of entry.
Section 1

1ons of natural fish seed ? Describe

m detais 6.25

PT.O.



th

Write notes on the following :
(a) Cage culture
(b)  Feeding habits of fishes. 3.

o

Section 11

Write notes on the following :
(a)  Cryopreservation 3

(by lransgenic fish. 3.25

Write notes on the following :
{a) Poly culture 3

(b)  Running water culture. 3.25
Section 17

Explain the systematic position, habits. nature of damage,

6.25

life-cycle and control of Wheat wee

Discuss the nature of damage caused and habitz of the

fellowing pests

(a)  Pulsc bectic K

(b}  Grain and Flour math, 3.25
Seetien IV

Discuss in detail about Fological conral 6.25

Write notes on the fotlowing :

(a) Rodent pest k!
(b) Legal control. 325

L-1759 2 1.7
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GSQ/M-22 1762
ELECTRONICS
Paper : I (Theory)
Micro Processor Architecture and
Programming-II

Time : Three Hours] [Maximum Marks : 40

Note : There are nine questions in the paper. Attempt Five
questions in all. Q. No. 1 is compulsory. Attempt
remaining four questions by selecting one question from

each Unit. All questions carry equal marks.

1. (a) How will you enable RST 5.5 and ﬁmmgm RST 6.5, -
RST 7.5 2 | 2

(b) What is the mode and input-output configuration

for ports A, B and C of an 8255 PPI after its

control word register is loaded with 98H ? 2

(¢) Name the applications of the 8253. 2

(d) What is DMA ? Using block diagram explain, how

the data is transferred by a DMA controller. 2

(5-03/8) 1-1762 P.T.O.



Unit I

2. (a) Explain maskable and non-maskable interrupts. 2
(b) Explain Hardware and Software interrupts in brief.
3
(¢) Discuss EI and DI instructions. 3
3. (a) Draw and discuss the interrupt control circuit for
8085. 5
{b) Discuss the bit pattern for RIM instruction. 3

Unit I1
4. Draw the schematic block diagram of 8255 and explain
the function of each block. 8
S§. (a) Explain the control word format of 8§255. 3
(b) Mention various modes of operations of 8255 and
explain its working in BSR mode only. 5

Unit 111

6. Draw the block diagram of Programmable Interval Timer
8253 and explain it in brief. 8
7. (a) Write the features of Programmable Interval Timer
8253. 4
(b} What ts the difference between hardware-triggered
strobe and software-triggered strobe ? 4

1L-1762 2

8.

Unit IV

Explain microprocessor based washing machine centroller.

Also write the program to control it. 8

Discuss microprocessor based temperature controller. Also

write the program to control the temperature of an oil
bath. 8

(5-03/9) 1.-1762 3 250
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GSQ/M-22 1763
ELECTRONICS
Paper : II
Introduction to C and its Programming

Time : Three Hours] [Maximum Marks : 40

Note : Attempt Five questions in all, selecting one question
from each Unit. Q. No. 1 is compulsory. All questions

carry equal marks.
{Compulsory Question)

1. (a) What is an escape sequence ? What is its purpose ?

2

(b) Differentiate between getchar and ﬁﬁormm with
suitable example. 2

(¢) What is the purpose of return statement ? 2

(d) In what ways does an array differ from an ordinary

variable ? 2
Unit1

2. (a) What is an operator ? Describe serveral different
types of operator that are included within the C
language. 4

(5-04/2) L-1763 P.T.O.



(b)

(a)

(b)

(a)

L-1763

A program in C contains the following (b) Describe the output that will be generated by the
declarations : 4 following C program : 4
int i, j # include <stdio.h>
long ix ; Main(}
short s ; ,ﬁ
float inti=0,x=0:
oat X ; G
touble d while (1<20) {
oubie & i (%S = = 0)
char ¢ ; _
X + =1
Determine the data type of each of the following printf (“%d”, x):
expression : !
(i) ix +c }
(ili) ((int) dx) + ix Printf(*\inx = %d, x);
(iv) s+ }
Name and describe the four basic data types in C. 5. (a) What is the purpose of if else statement ? - 4
4 (b) What is the purpose of break statement and continue
. . tat t 2 Explain by taki itabl les. 4
Describe the use of the conditional operator to form statemen Xpiain by taking suiable eXaipics
conditional expression. How is a conditional Unit 111
expression cvaluated ? 4 6. (a) What arc formal and actual arguments 7 What is
the relation between the two 7 4
Unit I1 . . ) ] . ,
(b) Explain the meaning of each of the foHowmg
What is the purpose of for statement 7 How does prototypes 4
it differ from the while statement and do while (i) int f(int a);
statement ? 4 (i) double f(double a, int b):
2 . (5-04/3y L-1763 K] P.T.O.



. 1a)  Describe the manner in which an actual argument Unit IV

passes information to a function. What name is

=4

§. (a) Whatisthe relationship between an array name and

assoclated with this process ? What are advantages | neinter 2 How is an array name interpreted when

and disadvantages to passing arguments in this . amosrs as an argument to a function ? 4
manner 7 4 b e the meaning of the following declarations : 4
(b)  Describe the output generated by the following R PR L

program ; 4 Soal fpa o &

e A
# include <stdio.h> N RO o

ar Snell fpel. *ped = &l
. ; i B Wl WLl TPl
int funct (int ¢ounti: char =y I ~

~ ot ) 7 N

mant} U cqp W hen passing an argument o a unction What is

_ the different between passing by value and passing

Nt @, count: by reference 4
for (count = 1; count <= 5: ~ count) by Under what conditions can two @ow.:.aﬁ variables be
. compared 7 Under what conditions are such
| funct{count) comparisons useful ? 4
a = funct{count);
printf(“%d”, a);
h
:

mt functint x)

RTINS
N A
reium _.«v

j

L-1763 4 -

—
'

]
>
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GSO/M-22 1764
COMPUTER SCHENCE
Paper : 1
Eelatienal Database Management System

: Three Honrs] [Maxinum Marks - 40

CoAtlempt Five questions in alll selecting one guestion
= f

from cach Unit, G. No. 1 is comnulsory. All questions

carry equal marks.

Fxplain in brief - 2x4=8
fa; What is Union Compatibility ?
(hy o Define

o) Infferentiate hetween 3NF and RONG

Write SOQL cuery to create a view,
< 1 v

5

netween SQL and PL/SQT.

[

Driffore ntiae

Unit |

1

hat s Lodd's twelve rules th

at 2 databage s

St as te be considered truly reiations 7

i e 350
agehre and Rel !
i by piving exanyios of ench. i
ST " :
it L] t
YL o




¥

Vhat are the anomaties that lead to the bad design of the
database ? Also explain BCNF by using an appropriate
example 8

Unit {11

FExplain the {ollowing constraints with reference 1o SO1 -

(a) Primary Key Constraint i
‘5 Cheek Constraint +

{a)  Sorling the data 3

aa

Yy Flltering the data,

]
—_
o
16
s}
[
=
ft
e
—
)
=]
P
for]
=
=
[:"4
N
Y

worsine of For ©

sppropriats cxomple,



Roll Moo, Total Pages : 02

GSQ/M-22 1765
COMPUTER SCIENCE
Computer Networks
Vaper : I

Time : Three [Tours] [ Maximum Marks : 40

Note : Attempt Five questions in all, selecting one question

froro cach Unit. Q. No. 1 is compulsery All questions
carcy equal marks.
Write <horf netes on the following :
{ay  local Area Network
(b)  Data Transfer Rate
(¢)  Go Back N protocol
(Y Domain Name Server.
Unit [
What do vou mean by Computer Networks ? Explain its
applications using suitable examples.
What 15 a reference model ? Why is it needed 7 Explain
OS5I reference model with its lavers.
Unit I]
Explain the following wort. Computer Network -

Bandwidih. Maodem. Baud rate. Capacity.

(5-26/3) 1 -1765 P.T.O.



fwr What Jo vou mean by puided data transmission ¢
Discuss.

{b)  Write a short note on modems and modulation
techniques.

Unit 1T

Differentiate between the following :

(&)  Pure ALOHA and slotted ALOHA

(by  Switched Ethernet and Fast Ethernet,

What do you mean by Bluctooth Technology ? Explain in

detatl.
Unit IV
What 1s a routing algorithm 7 Explain flooding with
suitable examples,
(a)  What iy the need of network security ? Explain.

{(b) Discuss the concept of firewalls with suitable

examples.

L-1765 2 1,500
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GSQ/M-22 1815
DIETETICS-IT
Course 311
Time : Three Hours] [Maximum Marks : 40

Note : Attempt Five questions in all, selecting one question
from each Unit. Q. No. 1 is compulsory. All questions
carry equal marks.

YR TRE ¥ UH T T gy, w uf e @
mﬂ&ﬂﬁ;ﬁﬁﬂuﬂwﬁw_ﬁ&ﬁ%
dF T T |

Compulsory Question ( 3ifyart e)

1. Write short notes on the following : 2x4=8
(a) Chemotherapy
(b) Renal Caiculi
(¢) Acute and Chronic Renal Failure
(d) Atherosclerosis.
Frfafes w wfra feofrgt fafam .
(37) AR
() T_ =+ gt
(®) R Siof @ @ Famerm
(T) uSRr=erifeg |

(3-05/1) 1 -1815 P.T.O.



Unit I (3&TE )
Define Glycemic Index (GI). Enlist the foods with high

and low glycemic index. Explain its significance with
special reference to diabetic patients. 8

ﬂﬁ?ﬂ%ﬂﬁﬁ.ﬁ.vﬂgﬁg.mﬂ
%jﬂﬂ%ﬁﬁmﬂ@ﬂﬂ&ﬂﬁﬁ
FTC | AyE AR # feiy ged § R mew =@
AT HIAT |

Explain the causes, symptoms and dietary modifications
for the patients suffering from Insulin Dependent Diabetes
Mellitus (IDDM). 8

Wem W ol mple dfaew (WA Hfeq
i F fog wrw, waw o sTER Sy w1 s
FIT |

Unit IT (3% 1I)

Discuss the classification and etiology of hypertension
along with principles of diet management in patients
suffering from hypertension. 8
o A9 ¥ Wfeq W F omr weuaw 3 fugia o
=T 9 F oo R s w o i |

Elaborate the types, symptoms, causes and nutritional
management of Coronary Heart Disease (CHD). 8

FEW A T (NwE) & @1, a5, Faw ok
%ﬂﬁﬁﬁmﬁz@mﬁﬂg_

L-1815 2

Unit 11T (3&78 III)

Elaborate the complications and recommended dietary
modifications in patients suffering from cancer. 8
He W e T whewmet ik IS SR TheR
W fomr @ s |

Discuss the diet for a patient suffering from

glomerulonephritis. 8

e ¥ Mg T B Ry omer # HifT |
Unit IV (3&7E 1V)

Describe dietary guidelines to be followed in the dietary
management of a patient with Chronic Renal Failure
(CRF). 8
ol R # faeer (e T Wit F AR v=E
H T fFe WR 9 seR Wt Rwr-fEv @ ao
FIQ |

What are Kidney Stones ? Discuss their type, foods
allowed and restricted during Kidney stones. 8
foett @R ®=n1 ¥ 2 ¥ 9 vt B R w98 ke
e v wiehe TR weet w as HifAT |

(3-05/2) L-1815 3 250
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GSQ/M-22 1816
TRADITIONAL TEXTILES EMBROIDERIES
AND CONSUMERISM
Course No. 312

Time : Three Hours) [Maximum Marks : 40

Note :  Attempt Five questions in all, selecting fwo questions
from each Unit. Q. No. 1 is compulsory. All questions
carry equal marks,

AT TR W W Y T EY, |9 U 9w # W
AT | 9 W 1 e ? ol W B o
T ¥
Compulsory Question ( 31fm@mt uy+ )
1. Write short notes on the following : 4x2=8

(a) Kalamkari of Andhra Pradesh

(b) Patolas of Gujarat

(¢) Kasuti of Karnataka

(d) Role of Labelling.

frefafes w Hfyw fewhmt fafen

() 39 9N H FEHwH

(9) T F 9ol

(5-06//NL.-1816 P.T.0.



(9) =A% w1
(1) o=a &t i |

Unit I (g8 1)

Write a detailed note on brocades of Benaras with its
various types. 8
Y F e R 3T wl v W e fh
fafew

Give an explanatory details of technique, history, patterns
and qualities of Bandhani. 8
AT 1 ks, s, T e fiaet W frew @
feoroft fafag |

Write in detail about the mulmul of Dhaka and Chikankari

of Lucknow. 8
TETS H AT S e #) v & wn ¥ ferfau |

Give the origin, patterns, colours, articles and other details
about Kantha embroidery. 8
ﬂﬁ%ﬁm%mﬂﬁ,ﬂﬁ,ﬁgﬂ&.m&mm&ﬁﬂ
T S W fawr 9 fafew |

Unit II 3% 1I)

What are the factors that affect the clothing selection and

case in intelligent choice ? 8
e % W wE fadwl fokr @ gafie w9 9w
F1 fawmgEs faaor dfsg

L-1816 2

(3-06/12)-1816 3 250

In present context. explain the factors that affect the

selection of fabric for bed linens, table linens and towels,
8

Tfr waf § faen, AW # wew s Gt aei 5

What are the various finishes in practice these davs, 1ith

suitable examples. 8

ﬁﬂﬂﬂqﬂmﬂﬁqmﬁﬂmﬂjﬁ% T HSTIA

TR AT WEEar | oA st

Explain briefly about the following : 2748

{a)  Carpets and Rugs

(b}  Draperies.

ffdafea % faug & daw § fafen .

(a1) =l om vy

(@) o
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GSQ/M-22 1817
ADULTHOOD GUIDANCE AND
COUNSELLING
Course 313

Time : Three Hours] [Maximum Marks : 40

Note : Attempt Five questions in all, selecting fwo questions
from each Unit. Q. No. 1 is compulsory. All questions
carry equal marks.

TAF ITFE G G W AT U, FA O 9V & 3w
AHfsre « w3 e 1 FwHaE 2 o' wwE % s
TmE €

Compulsory Question ( 31fard uv)

1. Wrte short notes on the following : 2x4=8
(a) Developmental Tasks
(b) Parenthood

(¢) Counselling Parents

(d) Effect of death of a member on family.
frafafaa w gfym fewformr fafan -

(3) TowmmEs @@

(3) wa-fear ==

() wra-foar #1 wmet 2

(7) == F1 gy & 9fan W g9am

(3-11/8) 1 -1817 P.T.O.



Unit 1 (3% 1)

Discuss the vocational development and adjustment to

vocations during voung adulthood. 8
TN H SEHEE fawg qoy wEam @ 19 FHTaeA
%1 949t Fifsm |

Write notes on the following : 8
(i) Marital adjustment during young adulthood

(i) Menopause in women,

Fr=fafas w feoforat fafem .

(i) YTFen ¥ dafes gomm

(i) wfeonel & wigfa |

Describe the retirement and grandparenthood during late
adulthood. 8
A qaraen # fafnf ok qEead ) = e
Eaiisi

Discuss the physical changes and health problems in old
age. 8
JaEEn H Wi 3o v e wmenw wows
FifTT |

Unit 11 3@ 1I)

Discuss the need and principles of guidance. 8

What is individual and group guidance ? Explain the
objectives of individual and group guidance. 8
mﬁﬂﬂﬂﬁﬂwﬂﬁﬁwwﬁ%ﬂﬁﬁ%
FIfTT )

Discuss the methods and techniques of counselling
children. 8

iﬁ%ﬂﬁﬂ@@&.%mﬂﬂ%i%ﬁ
What kind of skills and characteristics an effective

counsellor should possess ? 8

ﬁ&ﬁﬂﬁ@%%@m@ﬂ%ﬂ%%ﬁ%
T wifew 2

(G-11/9) 11817 3 250



ROIINO. covircereevrrraeenns Total Pages ;: 03

GSQ/M-22 1818
INTERIOR DECORATION
Paper : 314
fime : Three Hours) [Maximum Marks - -it:

Note © Attempt Five questions in all, selecting nvo questions
Irom each Unit. Q. No. 1 is compulsory. All questions
carry equal marks.

TEF IHE OB W9 9AC T, R Ui W & I
AT | e wem 1 afad € wl we @ sis
psce O A
Compulsory Question ( 31fF@Emt 793)
1. Define the following terms : 4x2=8

(a) Achromatic colour scheme

(b} Texture

{c) Furnishings

(d) Emphasis.

frfafen =&+ ofenfag Fifs .

() ummfes Fon =

(7 IETEUAAET

(7 AT

(7; WM

{6-03/7y 1-1818 P. T.O.
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Unit [ (3T 1)
Write in detail about different types of flower arrangement.

What principles to be followed for making flower

arrangements ? 8

fafir 9FR & Tl F e F 9 ¥ faww 9
fofae | v =1 = +@ % fou fa= .
et fwar s =nfen 2

Explain the impertance of elements of art and their

application in the interior decoration of a housc. 8
oot N REiCEA i I T
IFAT F AR F! SFEq HIfAC |

What is table setting ? Differentiate between formal and

informal table setting, 8
T Wen 7 T 27 sivaifi ok srtvafiw dww ofen @
w9 AR HI |

What is the importance of colour in interior decoration ?
Write in detail about the various colour schemes and
dimensions of colour. 44
aftw g W I w1 ¥ wew 0 fafes o g
AW F oy # an § fawm ¥ fafau |

Unit 1 (3&13 1)

Write in detail about arrangement and care ot dillerent
tvpes ol furniture. What principles to be followed while

selecting comfortable furniture for work and rest 7 8

i-1818 2

fafq= wam F wEE W oTETe s I 6o

BT F OFAT FIE AT (e fa

4
2H /
q_. i PR ' N
\ IRNAY 1
”J,.__,, _
W
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BSIT/M-22 26109
INTERNET CONCEPTS AND
APPLICATIONS-II
BSIT-604

Time : Three Hours] [Maximum Marks : 40

Note : Attempt Five questions in all, selecting one question
from each Unit. Q. No. 1 is compulsory. All questions
carry equal marks.

(Compulsory Question)
1. Write short notes on the following : 4x2=8
(a) Cookies
(b) Video Conferencing
(¢) EDI
(d) Intranet.
Unit I

2. What is Cryptography ? Explain its various types. 8

3. Explain various types of viruses along with its preventions.

8
Unit II
4. Write short notes on the following : 4x2=8
(a) 'Web Based Chat Services

(b) IRC.

(3-08/8) L-26109 P.T.0.



3. What is Multimedia Authoring Tools ? 8
Unit IIT
6. Differentiate the following : 4x2=8
(@) Pure and Partial e-Commerce
(b) e-Commerce and m-Commerce.
7. Define Electronic Fund Transfer. Explain its advantages
and types. 8
Unit IV
8. Explain hardware and software requirements of Intranet. 8

9. Explain various Electronic Meeting Systems in detail. 8

L-26109 2 150
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BSIT/M-22 26106
COMPUTER SYSTEM ARCHITECTURE
BSIT-601
Time : Three Hours] [Maximum Marks : -

Note . Attempt Five questions in all. Q. No. 1 is compulsory
Attempt four more questions, selecting one questior
from each Unit. All questions carry equal marks.

1. (a) What are auxiliary memories ? Also write its tvpe

(b) Draw a crossbar switch network and describe it
working.

(¢) What is an input-output interface ?

(d) Elaborate the role of computer in exploiting

parallelism. 4x2=8
Unit I

2. Distinguish between scalar RISC and super scalar RISC

in terms of Instruction issue, pipeline architecture and

performance. 8

3. Explain factors speedup, efficiency and thoroughput of -

e

K-stage pipeline.

(5-09/13)L-26106 P14y



Unit 11

With a suitable diagram. expiamn set-associative mapped

cuche memory with two blocks per set. 8

Write short notes on the following :

() Virtual Memory 4
1 Interleaved Memory. 4
Unit 1

raw a Hypercube Network Structure. Explain 1ts
configuration for physical Interconnection in a computer
systen. 8

l'xplain the following :

{a)  Vector Processing 4
()  Multistage switching. 4
Unit IV

Why does DMA have priority over the CPU when both
roquest memory transfer ? 8

Uifferentiate. how isolated /O 1s different from memory

mapped VO. 8

P-26100 2 150
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BSIT/M-22 26107
PROGRAMMING IN C++]]
BSIT-602
Time : Three Hours] [Maximum Marks : 40

Note : Attempt Five questions in all, selecting one question
from each Unit. Q. No. 1 is compulsory. All questions
carry equal marks.

1. (a) What is Protected Class ?

(b) Name mwo stream classes used in File-operations.
()  Write formatted mput and output statements in files.
(d) Differentiate Normal member function and Friend
Function.
Unit I

2. (a) Define Friend Function, Write its major properties

ﬁ and use.

| (b) Write a Program showing use of Friend Function,

%. memEoosooEow O@onmﬂoﬂoéaom&:m.%nﬁm ?omme

in C++ using classes and showing concept of Operator

| Overloading.

(3-08/9) 126107 P.T.O.



Unit IT

Explain concept of inheritance, types of inheritance and
write a program to explain multiple inheritance.
(a) Explain scope of class using the concept of Public,
Private and Protected base class.
(b) Explain concept of inheriting operator functions.
Unit III
Discuss Virtual Function. Write a program showing Virtual
Function and Virtual Base class.
Discuss properties of template class and also define
Instantiation and Specialization.
Unit IV
Make a Program using Files to use “File-1” for Qutput
and “File-2” for input with the following data : ,

File-2 : Name, Rollno, BOD, Address, Marks in Subl,
Sub2 and Sub3

File 1 : All above and also Total marks.

Explain Exception handling. Write a program to show

Catch, Try and Throw handlers.

L-26107 2 150
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BSIT/M-22 - 26108
WEB-SITE DESIGN IMPLEMENTING BASIC
DESIGN TOOLS-II
BSIT-603

Time : Three Hours] [Maximum Marks : 40

Note : Attempt Five questions in all, selecting one question
from each Unit. Q. No. 1 is compulsory. All questions

carry equal marks.

(Compulsory Question)

1. Write short notes on the following : 4x2=8
(a) <Frame> Element
(b) Get Method in Form
{¢) CSS Rules
(d) Uses of XML.

Unit I

2. Explain the procedure to create links between frames
using an appropriate examples. Also explain the use of
TARGET attribute. 8

3. Explain with examples the method to create the following

Form Controls : 2x4=8
(a) Text Input Controls

(5-09/11)]-26108 P.T.O.



(b)
(©)
(d)

4. (a)

(b)

Checkbox
Submit and Reset Button

Hidden Controls.

Unit I1

Discuss the <MARQUEE> element along with the

various attributes associated with it 4

Explain the various attributes of <EMBED: element.

4

5.  Write short notes on the following in Frontpage : 2x4=8

(a)
(b)
(©)
(d

6. (a)

(b)

Title Bar

Menu Bar
Scroll Bar
Status Bar,

Unit II

What is External Style Sheet ? Ho

from Internal Style Sheet ?

w 1s it different

4

Write short notes on the following :

(i) Import Style Sheet

(i) CSS Comments.

7. Explain the CSS properties for FONT and TEXT. 8

L-26108

Unit IV

8. - What is XML ? Differentiate XML and HTMI.. Also

explain advantages of XML.

8

9. Explain schema of XML in detail using appropriate

examples.

(5-09/12)1.-26108 3
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BSIT/M-22 26109

INTERNET CONCEPTS AND
APPLICATIONS-II
BSIT-604

Time : Three Hours] [Maximum Marks : 40

Note : Attempt Five questions in all, selecting one question
from each Unit. Q. No. 1 is compulsory. All questions
carry equal marks.

(Compulsory Question)
1. Write short notes on the following : 4x2=8
(a) Cookies
(b) Video Conferencing
(¢) EDI
(d) Intranet.
Unit 1

2. What is Cryptography ? Explain its various types. 8

3. Explain various types of viruses along with its preventions.

8
Unit II
4. Write short notes on the following : 4x2=8
(a) Web Based Chat Services

(b) 1IRC.

(3-08/8) 1.-26109 P.T.O.



5.  What is Multimedia Authoring Tools ? 8
Unit 11
6. Differentiate the following : 4x2=8
(a) Pure and Partial e-Commerce
(b) e-Commerce and m-Commerce.
7. Define Electronic Fund Transfer. Explain its advantages
and types. 8
Unit IV
8. Explain hardware and software requirements of Intranet, 8

9. Explain various Electronic Meeting Systems in detail. §

1-26109 . 2 150



Roll No. coovnnrenniccarianiennee Total Pages : 03

BSIT/M-22 26110
EMBEDDED SYSTEMS AND 8051
MICROCONTROLLER

Paper : II BSIT-605

Time : Three Hours] [Maximum Marks : 40

Note . Attempt Five questions in all, selecting one question
from each Unit. Q. No. 1 is compulsory.

(Compulsory Question)

1. (a) Why is microcontroller used in embedded system ?

2
(b) Why 8051 microcontroller uses 11.0592 MHz
crystal 7 2
(c) What will be the result after executing these
instructions ? 2

MOV A, # + 96

MOV R,, # + 70

ADD A, R1
(d)  What are the specifications of 8051 microcontroller ?
2
Unit I

2. Explain different hardware units used in embedded system

in detail. 8

(5-09/9) L-26110 P.T.O.



3. (a)

b)

(b)

(b)

(b)

(b)

1-26110

What i1s CISC and RISC architecture ? Which
architecture is preferred in 8051 microcontroller and
why ? 4
Discuss different types of single purpose processor
used in embedded system. 4

Unit I1
Explain Program Status Word (PSW) of 8051

microcontroller, 4
What is the role of timers in 8051 ? Explain TMOD
and TCON special function register. 4
Discuss internal RAM structure of 8§051. 4

Explain, how external memory is access by 8051.
4

Unit 111

What is serial communication ? Discuss SCON and
PCON registers in 8051. 4
How many interrupts are provided in 8051 ? Explain

with their priorities. 4

Explain different types of addressing modes used in
8051 microcontroller to access data with examples.

4
What is the use of CALL instruction ? Explain
(i) LCALL (11) ACALL with example. 4

2

(b)

9. (a)

(b)

(5-09/10).-26110

Unit IV

Why testing of a design is required ? Discuss the
different steps involved in the testing of
microcontroller design,

What 1s  the role of look-up tahles
microcontroller ?
Explain different steps involved in the designing o
a microcontroller, o
Discuss different tvpes of data transmission i

microcontroller and which one is preferred.



